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Z and A2t

=
=
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Jexelupyter typedsto] A

clickStH,

5}04, Jupyter Notebook icon=

= =2
= = 1

browser

/home/pi directory7} L}EFLED,



/Ai_Book CIHE2|E MEASH 2 WA{oj| CHot oA jupyterOi| 2|o Ml E L§&0| ZEHE.
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JAEROIA 212 ' Jexelupyter' S AFE L] jupyter notebooks A& ZH S 7 LIEILI= 3HHO,

The Jupyter Notebook is running at: http://192.168.0.17:8888/7
token=4aaf5f14fa5d7c93bb0c49c16ae3d0af5d106eadb65a2e771
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Ct.
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3H

0l2{7}X| 20| QOLY, & X2 0| M raspberry pi 42 7|22 2 RIgBtLY,

=0| RAM2| 37[0f 2t 7+4 A+0| 7 B0| 2 SHA| R, 7hy R2 260N = =2
Mot elee=

raspberry pi 4 ModelO|H 2|7} SIS A= 42 SiCt,

OAQIQI DM E 50| ALto] Rt FEO0AM X7 ZASHALY, SE7t
C

o LE.IJE\ (@]
O — =T |'

T = AN
raspberry pi 3 ModelO[5t= 7.2 Xt GHE IO EH= HH X

NT

i~
mjo
b
40
N

75*‘?_' 9!—'?‘— 71712e] AZ S 2l Bt Arek2, Of2e| AtO|ES ROF7HA]
(o]

7| = ,
24815} ] Bitct.

https://projects.raspberrypi.org/en/projects/raspberry-pi-setting-up
2.2 Ef=H2|mto] &

raspberry pi4

40 Pin General-purpose
input/output Header PoE HAT Header

Gigabit Ethernet

2.4/5GHz Wirless
Bluetooth 5.0

Micro SD Card Slot

2-lane MIPI DSI
display port

USB-C Power
4-pole stereo audio

Port 5V/3A

i 2-lane MIPI CSI
2 x micro HDMI
ports(up to 4Kp60)



Raspberry Pi 4 Tech Specs

Gigabit
New, more _ : Ethernet

powerful
processor

Choice of RAM:

USB-C Power Supply Micro HDMI ports
Supporting two 4K displays

2.3 Raspberry Pi 4 Specifications

e Broadcom BCM2711, Quad core Cortex-A72 (ARM v8) 64-bit SoC @ 1.5GHz
e 2GB, 4GB or 8GB LPDDR4-3200 SDRAM (depending on model)

® 2.4 GHz and 5.0 GHz IEEE 802.11ac wireless, Bluetooth 5.0, BLE

e Gigabit Ethernet

e USB 3.0 ports; 2 USB 2.0 ports.

e Raspberry Pi standard 40 pin GPIO header (fully backwards compatible with
previous boards)

e 2 x micro-HDMI ports (up to 4kp60 supported)

e 2-lane MIPI DSI display port

e 2-lane MIPI CSI camera port

e 4-pole stereo audio and composite video port

e H.265 (4kp60 decode), H264 (1080p60 decode, 1080p30 encode)
e OpenGL ES 3.0 graphics

e Micro-SD card slot for loading operating system and data storage
e 5V DC via USB-C connector (minimum 3A¥)

e 5V DC via GPIO header (minimum 3A¥*)

e Power over Ethernet (PoE) enabled (requires separate PoE HAT)

e Operating temperature: 0 — 50 degrees C ambient



2.4 raspberry pi pin map

Pin1

3V3 power

GPIO 2 (SDA)
GPIO 3 (5CL)
GPRIO 4 (GPCLKO)
Ground

GPIO 17

GPIO 27

GPIO 22

3V3 power

GPIO 10 (MOSI)
GPID 9 (MIS0D)
GPIO 11 {SCLK)
Ground

GPIO O (ID_SO)
GPIO 5

GPIO 6

GPIO 13 (PWM1)
GPIO 19 (PCM_FS)
GPIO 26

6B BOERE0000C

Pin 2

2
4]
¢}
o
o
@
&
©
©
20)
22
24
@
@
50
D
54
D
6]
40]

5V power

SV power

Ground

GEIO 14 (TXD)

GPID 15 (RXD)

GPIO 18 (PCM_CLK)

Ground

GPIO 23

GRIO 24

Ground

GPIO 25

GPIO 8 (CEO)

GPIO 7 (CE1)

GPIO 1 (ID_SC)

Ground

GPIO 12 (PWMO)

Ground

GPIO 16

GPIO 20 (PCM_DIN

GPIO 21 (PCM_DOUT)

2.5 2t=H[2|L}0| 4 8=
Uut 7 FE

- EZAY HE Linux PC

- softwareZ M A|, 2 E, 2

-E22 EE XsH MAO EE 7Hs

- Y8t pc= 99| pin mapdt 22 GPIOZ} 810, 21 & hardwareES

YNPS
~

- OS(operating system)= LinuxA| € 2| H|H|2t2

WX ClHED =X

/home/pi/Ai_Book O|5}0]| HY X| £ Of

/home/pi/Ai_Book/2H --> & Ao 4H

/home/pi/Ai_Book/& & --> & ulXjQ|

o|
AN -

|
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I-XH

/home/pi/Ai_Book/uttecAiExam --> shield board0l| &

driver
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=

g Mof 7ts
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== module?|
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mjopMel 7|2 Z o o2 kK| Ji 2 &l 2to|22{ 2|7t Ao HEJt= = EO[SHA E[Of A0,

I
N
HU
rtr
AN
>|
E_I
o
=
=2
i}
el
rﬂ
_>|,
Ot
rir
>
[|I'IJ
r|o

Otz 2| ALO|EE YZ 3 27| HHZCE

https://docs.python.org/ko/3/tutorial/index.hti

orzfel oM E2 7|20 sHFE2 =2, =

0z

E2 A LSO, errore R, =L SHHA

1

Ol 48 X =0 L 23O} ShC

=
Offf QI0jE, B0 1, WEPS 210, S| 210 ot= AP0 A A S 0| Z2tX| =20,
oM &= 2A0{0]7| E0| £Z2 B0 Setrt.

jupyter notebook= O| &30 & lStH & M2+ ASAOILH.



= =LA
3.2258 g oKX
X *
A|-_l |_AI_|-(+' -l ,/)
print('first:', 14+ 2)
print('second: ', (1 +2+3-4+2 % 3)/5)
first: 3
second: 1.6
al fk%
M= (*%)
print('M&: ', 2%%3)
d=: 8
A : S
H 2= (variable) 2} At2H
HFHol = Losll, =Xt, @=2 At UL
CHEAt 22Xt FEEICH
H0 HA= =XHE AR gl
otO|M B2 int(‘dinteger), float(& 3 real number), str(=X+<L: string), bool(&, %),
list(HH €), tuple(="d 2tk = B ¥), ndarray(H )& 7|El HHO0| YL} & MM A=
712 Atdtt 4 St = ook
# A2 =HOIG6HA &lie type &5 0| =stCH.
# ex)
x_int = 100
print('d=&: ", type(x_int))
x_float = 100.1
print('&4=&: ' type(x_float))
x_str = 'leaning'
print('2X<Z: ', type(x_str))
4. <class 'int'>
A3 <class 'float'>
SXg: <class 'str'>
print
testSt=0|, Z1tE 2 QI5H7| [l BEEA] 2Tt ST} printE, Xt AFESH= 7| R7HXE
Yotk
#EAE D 8H =XE EActD A2 B2
x = 1/3
print(x)



print('test Z2H1: ', x)

print('test Z22: '+str(x))

print('test Z213: {0}0] =& ZIAUASLICH. . format(x)) #format=2 AIEolH IS
y = 4

print('test Z0{0}: {110l &= "' format(y, x))

y +=1

print('test Z2H{0}: {1:.2f}" . format(y, x))

test Z1t1: 0.3333333333333333

test Z1t2: 0.3333333333333333

test 2 13: 0.33333333333333330| =& AU SLICH.
test Z1t4: (0.33333333333333330] ==&

test Z215: 0.33

list(H &)

x_list = [1, 1, 2, 4, 6]

x_element0 = x_list[0] # list¥[2A BIS], 24 ©

[

= OB=2H AIXE.

fon
fol

print('x_list: {0}, x_elementO:{1}"'.format(type(x_list), type(x_element0)))
# x_list= list, x_element0= int

x_list: <class 'list'>, x_elementO:<class 'int'>

nXp2 Hi E

x2_list =[[1,2,3], [4,5,6]]

print('x2_list: ', x2_list)
print('x2_list[1][2]: ', x2_list[1][2]) #22
print('len(x2_list): ', len(x2_list))

i
@
I

x2_list: [[1, 2, 3], [4, 5, 6]]
x2_list[1]1[2]: 6
len(x2_list): 2

range
x_range = range(5, 10)
print('x_range: ', x_range)
list_x_range = list(x_range)

print('list_x_range: list_x_range)

x_range: range(5, 10)
list_x_range: [5, 6, 7, 8, 9]

basic statement: if for, enumerate

x_if =13
if o x_if > 10:

print('x_if is larger than 10")
else:

print('x_if is smaller than 11')

x_if is larger than 10

@ 2tHRL0I 0RE AlE.

0



43 AR}
==b:alf b7} ZL.
a>b:a’t bECt AL
a>=b:a’} bO|& O|LC.
a<b:aZt b2Ct 2L}
a <=b:a7} bO|5} O|LCF.

al=b:a2 b= CIELE

x_for = list(range(5))
print('now start for statement: ')
for i in x_for:
print(i, end = ",") #print®l Al new lineS HZoctX &1 St=0 LIEIW DX M Af

print('#nend of for test.')

now start for statement:
0,1,2,3,4,
end of for test.

e_num = [2, 4, 6, 8, 10]

for i, n in enumerate(e_num):
e_numl[i] = n* 2 #ie 2 element =S, nllle 2 elementl gt= WASGHAH = Ch.

J

print('final e_num: ', e_num)

final e_num: [4, 8, 12, 16, 20]

—_—

21 O At

- -

ru|o
-
rot
ot
>
zQ
im}

vector: B E(list) 2 = vectorZt

—
h2tA vectorOff ZHE El AHAZ QIS A, IO o| o=t A4t 2t0|E 22| QI numpyE 7HEHS| AL
=Lt

—

ZHEESE Of| 2 vector RS M Z2tsl Xt

x1_list
x2_list

1, 2
[3, 4] #02I &A=
#x1_listdt x2_listIl vector2 ™A ECHH | [4, 6]2 Z0HDF LEQFOF SHCH.

x12_list x1_list + x2_1ist
print('x12_list: ', x12_list)

x12_list: [1, 2, 3, 4]

:tEM ZA1H= [4,6]0| OFHL 1,2, 3, 412 HIE S & Zat7h Ligt



numpy 2t0|22{2|F 0| &5t0| 2o EXt

import numpy as np

x1_vector = np.array([1, 2])

x2_vector = np.array([3, 4])

print('xi_vector: {0}, x2_vector: {1}'.format(x1_vector, x2_vector))

x1_vector: [1 2], x2_vector: [3 4]

#H# 1ist22l XH0l= elementAFOION ', 'JF S Ct=210ICtH.
x12_vector = x1_vector + x2_vector
print('x12_vector: ', x12_vector)

x12_vector: [4 6]

A= Aot 22 QUL list2f np.array= & 7
= SljOfetCt.

O AHE o=

Elis
of

0al

4>
JZ
o
0z
0x

print(np.arange(10)) #X3F AIE2C =, A&

print(np.arange(5, 10))

(01234567 829]

[56 7 8 9]

x23 = np.array([np.arange(1, 4), np.arange(4, 7)]) #28i 3% a4
print('x23: ")

print(x23)

print('&88<: ' x23.shape)

x23:

[[12 3]

(45 6]]

s (2, 3)

print(np.zeros(10)) #10JH2 '0' element2S 2t= 18 s A
print(np.ones(10)) #10JH2 '1' elementE 2t= 18 Y M A

[0. 0. 0. 0.0.0.0.0.0.0.]
(1.1, 1.1, 1. 1. 1. 1. 1. 1.]

a = np.random.rand(5)
print(a)

b = np.random.rand(2, 3)
print(b)

xRand = np.random.rand(2, 3) #6JH2l 0.0 ~ 1.0At0[S] &9 Al SHHZS OtE= 2
print('xRand: ', xRand)

[0.80906796 0.8086976 0.61972119 0.93062568 0.11191235]
[[0.43368203 0.38059674 0.92639269]

[0.05318904 0.94007202 0.29019642]]
xRand: [[0.43623642 0.45638802 0.5817264 |

[0.47800764 0.66825224 0.18479564]]

vector HAk:(+, -, *, /)

import numpy as np



x_ar = np.array([np.arange(1, 6), np.arange(10, 15)])
print(x_ar)

y_ar = np.array([np.arange(5, 10), np.arange(1, 6)1])

print(y_ar)

[[1 2 3 4 5]

[10 11 12 13 14]]

[[567 8 9]

[1 23 45]]

print('x_ar + y_ar: ', x_ar + y_ar)

x_ar +y_ar: [[ 6 8 10 12 14]
[11 13 15 17 19]]

vector°4” FEH S (list: F2[7F Lo Hot= B € SehE 4t A
O 7} RALE.

vector(& &) &

np.array([[1, 2, 3], [4, 5, 6]])
np.array([[1, 1], [2, 2], [3, 3]])

v_vector
w_vector

print('v_vector x w_vector: ', v_vector.dot(w_vector))

v_vector x w_vector: [[14 14]
[32 32]]

vetorg 2 A 2F BEO| RO #A0f & F2| &|0fOFetLy,
Q

print('w_vector x x_vector: ', w_vector.dot(v_vector))

w_vector x x_vector: [[ 5 7 9]
[10 14 18]
[15 21 27]]

Zit= MS{CHE HEfE LIEFL A =ICH Z= A OF SHCt,
Z 0 XbM|SH vector Al AH2 200 CHSHA| REOFE 7| HEEECY,
CESt H o] At Hubsk(2x2, 3x3....) 2| HEN7t &| =& 8| OF St}

2/0] 0f O M=, REH=

3)x(3.2) = (2,2)°] B SHEY7} g1, SRIm=
(3.2)x(2,3)=(3,3)2 i & Z1f7t & ) N

Ct.

h2tA vectorQ| A4t AFHO| Y2 E|E data Tt RS & ATHOL

E ( ython)
O| REE & MXION, SERZ0 AF ALBEHCE, 7|52 H&9| Olsed 22
7t ULCE.

#ex) for slicing
x_slice = np.arange(10)



print(x_slice

( )

print(x_slice[:5]) #dE2%& 50/6tHE

print(x_slice[5:]) #52 & OFXINHAl

print(x_slicel[2:6]) #2= & 60/5t(5) 7 Xl

print(x_slicel[0:8:3]) #0= & 77Xl 3bH ==

[01234567829]

[0 12 34]

[56 7 8 9]

[2 3 4 5]

[0 3 6]
gt==(function): libraryS AFESHXA| 210, XtA10] HE|0f o|5 TH=0] ALE.
SR 52 SQ0HA| O AN H 22 250 2| 5H0f Of otCt. Ap4l0] BHE 0
OF St7| If=9j....
Ol 4o} i, STl WX 0| YOLt, SAto] T2 12 0lojef Xf0|7} ¢S

O|E 2% Of2{o| AFO|E &1
https://docs.python.org/ko/3/tutorial/index.html

ot X & (file save):

IHO|M Xt H| M 2 2 data fileX 2 SH7 [ @[2H et=7t BO| A2

Ju@/ter(ﬂl OIOH =&l dataS Mot 7| RIS, O|FE2 7|3l A ALESH

Qoo = TrUAXN Y YYO|LE AL E S HSSHO, X727 AiREA 28+
U7| & HEtC

numpyOil Al R S8Hs T X3t 87| 2 Byeict,

d_save = np.random.randn(5)
print('d_save: ', d_save)
np.save( 'd_saveFile.npy', d_save)

d_read = [] # empty list
d_read = np.load('d_saveFile.npy')
print('readData: ', d_read)

d_save: [-0.57603154 -2.79764259 -0.34028777 -0.80708613 —0.84906014]
readData: [-0.57603154 -2.79764259 -0.34028777 -0.80708613 —0.84906014]

O 2{7tX| H=E A KESHL, return® =% = 2=: numpy.savez
dl = np.array([1,2,3,4])

diName = 'testFile'
datalLength = len(d1)



print('array: {0}, name: {1}, length: {2}'.format(d1, diName, datalength))
np.savez('testFile.npz', d1 = d1, diName = diName, datalLength = datalength)

readFile = np.load('testFile.npz")
print('read array: {0}, name: {1}, length: {2}'.format(readFile['d1'], readFile[ diNar

array: [1 2 3 4], name: testFile, length: 4
read array: [1 2 3 4], name: testFile, length: 4



In [1]:

In [2]:

3.3 graph

= S S22 1ol Hl = I =
dataE / AlZ=ictil, debs oiorol=tl= 1223 1
I
H=40| 2R,
7He ZHERSE 22| 9| dataE displaySh=Zdat, g =0f CHEt HEHE displaydt=d 22 4F 2 otC
# 2219 dataOll CHSt display
import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline
np.random.seed(1)
x = np.arange(100) # 0~100 Dt X
y = np.random.rand(100) # 100902 0 ~ 1.0AOISl random &! 2=
plt.plot(x, y) # x, yo data E=
plt.show
<function matplotlib.pyplot.show(xargs, =*xkw)>
10 |
0.8 - f ’
0.6 + [ l M ~‘ K
04 - ‘ ’ \
02 J |
00 -
0 20 40 ' 80 100
#2100 &0l et display: f(x) = (x=1)(x+1)(x+3)
import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline
def f(x, k):
return (x=k)*(x+1)*(x+k)
X = np.linspace(=3, 3, 200) # -3 ~ 3AI0[E 2004 H =2 LIS O
plt.plot(x, f(x, 2), color = 'g', label="$k=2$")
plt.plot(x, f(x, —1), color = 'red' label="$k=-1$")
#color: r=%r2, b=u+a*, g==2 c=AlCt, m=0tME}, y=&,6 k=&, w=white
plt.legend(loc = 'upper left')
plt.ylim(=15, 15)
plt.title('$f(x, k) = (x=k)(x+1)(x+k)$")
plt.xlabel ('$x$")
plt.ylabel ('$y$")
plt.grid(True)
plt.show



<function matplotlib.pyplot.show(xargs, #*xkw)>

#
pl

flx, k) =(x— kx+ Dix+ K

oOde4oie de= 12ld|
t.figure(figsize=(15, 6)) #28 e size

plt.subplots_adjust(wspace=0.5, hspace=0.5) #2+ e =2t
for i in range(6):

pl

plt.subplot(2, 3, i ) #28 JeH=Z ol AR

plt.title(i + 1) #2r 22
plt.plot(x, f(x, i), 'r")
plt.ylim(-20, 20) #y= &t
plt.grid(True)

t.show # 12/

<function matplotlib.pyplot.show(xargs, *xkw)>

20

1 2
20

10 4

10 4

#

3XHE el d|

import numpy as np
import matplotlib.pyplot as plt

def f1(x0, x1):

r= 1.5xx0%%x2 + x1*=*2
return rxnp.exp(-r)

xn = 20

x0

x1
y

np. linspace(=3, 3, xn) #x0¥ < : -3 ~ 32 200 2 Lt
np. linspace(-2, 2, xn) #x182: -2 ~ 22 200H=2 L}
= np.zeros((len(x0), len(x1)))# vy BHHE '0'22 =J|3a

[
=
[
=

S
N
x
0%

-2




for i0 in range(xn): #yBHZ 0l stz Z20ga &3
for i1 in range(xn):
y[it1, i0] = f1(x0[i0], x1[it1])

plt.figure(figsize = (7, 5))

plt.gray()

plt.pcolor(y)

plt.colorbar()

plt. title('$T(x0, x1) = eM1.5*x0%2+x172}$")
plt.xlabel ('$x0$")

plt.ylabel ('$x1$")

plt.show

<function matplotlib.pyplot.show(*args, **kw)>

ﬁxur Xl} = 91-5'3‘334.;1:

200 —
- 0.35

17.5
- 0.30

15.0
- 025

125
0.20

— 10.0
015

7.5
50 0.10
25 0.05

0.0
0.0 25 5.0 75 o0 125 150 175 200

x0

# 33X el
from mpl_toolkits.mplot3d import Axes3D
xx0, xx1 = np.meshgrid(x0, x1)

plt.figure(figsize = (10, 7))

ax = plt.subplot(1, 1, 1, projection = '3d")

ax.plot_surface(xx0, xx1, y, rstride = 1, cstride = 1, alpha = 0.3,
color = 'blue', edgecolor = 'black')

ax.set_zticks((0, 0.2))

ax.view_init(75, -95)

plt.title('$f(x0, x1) = e™M1.5xx0"2+x172}$")
plt.xlabel ('$x0$")
plt.ylabel ('$x1$")

plt.show()



fix0, x1) =el.’)"x0’+x1’

#S 0 & contour 12lJ|

xn = 50

x0 = np. linspace(-2, 2, xn)
x1 = np.linspace(-2, 2, xn)

y = np.zeros((len(x0), len(x1)))
for i0 in range(xn):
for i1 in range(xn):
y[it1, i0] = f1(x0[i0], x1[i1])

xx0, xx1 = np.meshgrid(x0, x1)

plt.figure(1, figsize = (5, 5))

cont = plt.contour(xx0, xx1, y, 5, colors = 'black")

cont.clabel (fmt

'%3.2f", fontsize = 8)

plt.title('$f(x0, x1) = e 1.5xx0"2+x172}$")

plt.xlabel ('$x_0$', fontsize

14)

plt.ylabel ('$x_1$', fontsize = 14)

plt.show()
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4 =5}

4.1 Vector

7t2 vector:d =[1 2 3]
1

M2 vector:dT = | 2

3

M K| & (transposed matrix): 1t = W 2tot AFEY
4

or

|F= 0l Atz LIEHLE - ALt - Y 2 et o|0| S F=ts
I

+=3t0j| M vectorE program2 2 AHAHS TIEHSHY| @5 QA2

_|_

mjo[MofAf 2fol= 2|2 S A8t E &l =6,

numpy2he 210/ 2212|1 2 22|M AL 31 EiCt

import numpy as np
a=np.array([1,2])
print('Jt2 vector: a ——>', a)

Jt& vector: a —> [1 2]
M Z vector= OB A LIEEN} ZHEHSE HEZ

c = np.array([[1,2], [3,4]])
print('cel SHEH: ")
print(c)

col EEH:

[[1 2]
(3 4]]

Ol JEIE 7|22 2o M, M2 HE S LIEtEEH

—

d = np.array([[1], [2]])

print(d)
[[1]
[2]]
O] HEf7t 2x12| 2K+ M 2 HIE{ & LIEFHCE

MZ #EE E27 ot O 7= otX| 2 Q0| g2 2 S ULt

—

{3 dE TRISHH, a2t 20| &l =X| =elof 24t

print(d.T)

[[12]]

v



print(c.T)

[[13]
[2 4]]

Vector + (X)), (i

a = np.array([2,1])
b =np.array([1,3])

print("A&: " ath)
print('&€a: ' a-p)
34]

ol == S 45} 5t7|0f = =3l TICH.

HE O AZEUS SOHALEL Le7], Hot7|, 7| S2 282 4

a2 )= [1oa] = ]

print('Z1f:", 2xa)

o [4 2]

vector2| Ll & (inner product)

b—1 4—1432—10
oc—3~2—az+x—



vectorl| 37|

274919) 2%

_ 2 2
=4/ T a7

3xk919] 7

B
I

ai

ao
la| = a1 :,/a3+a%+a%
az

a = np.array([1,3])
print(np.linalg.norm(a)) #0| =20 2 vectorE M3o6t0, Cato, M=

3.1622776601683795

A AP E = 7=
2Hsum)7|=: >

Y f(n) = fla)+ fla+ 1)+ + f(b)

vector(& )0 Al 2| 7|= & 7|

(RFE A8 EHO 2 o012 Here) ofshe TRt US)

-1
WX =WoXo+WiXi++Wp Xp1=)» WX,

i=0
Wy Zo
wy T
w = . X =
Wp-—1 Tp-1

ex) 2f = vectorl| LIE 2 2 F15t= O A

(THO|M Q| for2 1t numpyl| dotet=2| A3l & H|w)

X for2 0l O 8= AlZHS SHE EXE(1 ~ 100007HX| 3t 7|5)

0
1



import time
testNum = 1000000

sum = 0

start = time.time()

for i in range(1,testNum+1):
sum += i

print('for result: ', sum)
forDelay = time.time() — start
print('for0l 28 HAAIZE: ', forDelay)

for result: 500000500000
forOfl 2/t HALAIZE:  0.38047099113464355

import numpy as np

a = np.ones(testNum)

b = np.arange(1, testNum+1)

start = time.time()

print('result:', a.dot(b))

dotDelay = time.time() — start
print('dotOl 218 HAAIZE: ', dotDelay)

print('for — dot: ', forDelay - dotDelay)

result: 500000500000.0
dotOll 218t Al &HAIZE:  0.05107617378234863
for — dot: 0.3293948173522949

?lo] ZIME EHH testNum=At7t AH 25

for0f 25 Z2[= AIZFE L numpyQ| doteh=0ff 2|t 0] EA W= Ch=2

o
e
+
z0
o

= (multiplication)2| 7[=: [

b
H f(n) = fla)zf(a+1)z---zf(b)
5
ez) [[ = 122232425
n=1

=
B
my!
o
ke
il
N
Rl
=
HU
N
4%
o
rg
2
30
rr
IR
|0
HU
~J

etA FA Q7O =33l 0Fdt= R0 = BEA| 9|2] 7|2 & LI LL O|SHoOF I 7 B2
4,



A B2, o] =40 ofof =0T =0 Tisl], £ XCHR! XS H= 2HF0| S2StLH.

H2FOILt ZCHE XG0 M= 712717t 00 2AE= 20| A=H|, Ol X[ HE H= g/

At g BEL, O @K g7t A aTtElE X FE H=A0|L

A} g0l Chiol, 0|2 H-&5t1, 020l ofe & =4t0] 00 ZALE[= AEE H4,

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

def f(x):
return xx*2

def df(x):
return 2xx

def df_2x(x):
return 2xx - 1

def df_m2x(x):
return —2xx — 1

def df_4x(x):
return 4xx -4

def df_0x(x):
return 0.0*x

X = np. linspace(=5, 5, 200) # -3 ~ 3AI0[2 2004 H =2 LIS O

plt.figure(figsize = (7, 7))

plt.plot(x, f(x), color = 'g', label="$f(x) = x"2$")
plt.plot(x, df(x), color = 'r', label="$f"(x) = 2x$")
plt.plot(x, df_2x(x), color = 'b', label="$f"'(x) = 2x —-1$")
plt.plot(x, df_4x(x), color = 'm', label="$f"(x) = 4x - 4$")
plt.plot(x, df_m2x(x), color = 'c', label="$f"(x) = -2x - 1$")
plt.plot(x, df_Ox(x), color = 'k', label="$f"'(x) = 0$")



#color: r=%2 b=It2, g==4 c=AlQt, m=0rHE}, y=&,6 k=&,

plt.legend(loc = 'upper left')
plt.ylim(-5, 10)

plt.title("$f(x) = x*2, f'(x) =2x $")
plt.xlabel ('$x$")

plt.ylabel ('$y$
plt.grid(True)
plt.show

<function matplotlib.pyplot.show(xargs, =*xkw)>

fix) =x2, f(x) = 2x

10 T
— fix)=x*
— fix)=2x

B1— Ffix)=2x-1
— f(x)=4x-4
— fix)=-2x-1

81— rix=0

4<

=

2_

DA

=2 1

_4-

|
=
|
]
E-
-
=

x =2 §EOAM B &=, 7I271= 4, f(x) = 4x - 4

x =1-HEANO FH o=, 7|27 = 2, f(x) = 2x - 1

x=-18HAN BHE &=, 7[27]|= -2, f(x) = -2x - 1

x =0 G™HOM HE &=, 712710, f(x) = 0 --> f(x) = 22 &
H T Al. d _ -1

nXtAl9| O|F Z4: dw " =nw"

f(z) = a® + zb® + 20| O3 we] 71|

%f(w) = %(a3+mb2—|—2) =0

Ji

o B, w/t ZREX] Q2

mok

A x|1
M52 32

rir

A
T

40| 2/ M point

Ct.



oA
It
[
oot

g(w) =aw+b
) = (aw + b)? = a’w?® + 2abw + b*
(nXHA] O] 2 S4{0f 2|5 A)

iwf(w) = 20w + 2ab

df df dg
dw dg dw
81 A: df/dg R 22 2 g2 0|2l f(w) = (aw + b)? = g(w)?E A2l YA S 0|83l E0f
B}
(nX} O] SA0f e}
df d ,
S
dg dgg g
dg d
T = dw(aw+b) a
A1}
d df d
dz{) = d; : dvi = 2ga = 2(aw + b)a = 2a’w + 2ab
M 0| 2 (partial differentiation):
CtH 2t 5 WE A Qe LIHX| HeF d52 7510
e He= 0| 25t=4A

N
rhr
ogt
aul



fwo, wy) = wy + 2wow; + 3

Ol &0l 22X H4= wy, wy Off CH3H,
weOl O8] 0|22 €M, w22 dF2 UF
wiOf TS 0| 2= M, woRF =& &2 3510 O
Ct.

8]0(;72;0’101), 8?00 f('wo,’w1), f{UO
ofl) f(wo, w1) = w2 + 2wowy + 3 ol W wo, wy &) AV TS TP el

# 3xr& 2lJ|

import numpy as np

import matplotlib.pyplot as plt
%matplotlib inline

from mpl_toolkits.mplot3d import Axes3D

def f(w0, wi):
return wo*x*2 + 2xwO0*wi + 3

wn = 100
w0 = np.linspace(-3, 3, wn) #w0& < : -3 ~ 3= 1002 U=
w1l = np.linspace(-3, 3, wn) #wl& < : -3 ~ 32 1002 U=

y = np.zeros((len(w0), len(wl)))# v Y '0'22 =3t

for i0 in range(wn): #ybiZ0of &= Z2ug &F
for i1 in range(wn):
y[i0, i1] = f(wOl[i0], wil[il])
wwO, wwl = np.meshgrid(w0, wt)
plt.figure(figsize = (10, 7))
ax = plt.subplot(1, 1, 1, projection = '3d")
ax.plot_surface(ww0, wwi, y, rstride = 1, cstride = 1, alpha = 0.3,
color = 'k', edgecolor = 'c')
ax.set_zticks((0, 20))
# ax.view_init(75, -95)

ax.view_init(45, 45)

title("$f (w0, wl) = w_0"2+2w_Ow_143$")
xlabel ('$w_1$")
ylabel ('$w_0$")

plt.
plt.
plt.

plt.show()

rot



AN, wi=-12 BE AE2=A2
f(w0,wl) = wl + 2wow; + 39N wiell — 15 % -&3}o]

fw0, —1) = w} — 2wy + 30l gk 1] ESF38H A =

or
Awg

o M, wi=12l BE Xt 2=A2

lwi——1= 2w + 2wy [y ——1= 2wy — 2
P
f |w1 —1= 2wq + 2wy |yy—1= 2wy + 2
f—foﬂ A e 1w

wi

3f

|w0 1= 2w |poo1= 222 I LIREALE,

wo = 10A, 7|12 7[7} 2Q ZAIEH S LIEHE S 2O &L,

of
o un= 2= 2 - 2= —4USZ YTt LIREAE,

wo = —20|M, 7|2717F -4Q] FAEHS LIEHH S B0 =L

Ol¢tS M2 ¥, wo st wi Ol CHSH MO 22 22t w2l 7|87, wiWE2| 7|87| & LtEtH
ct.

=, HOI20f 25 F2l2l(wo, wn)AM F &l 7|27 5 Attt ULt

O] &712] 7| 27| 2 MRS 258 =5 UL

Of= fo| woil thet BANZI2 7] ME)Z ot At gefa 372 LiEtE = QAT

0
=

1

S+Ao2 HHHH



of
Jwq

of
w1

Vof =

import numpy as np
import matplotlib.pyplot as plt

def f(wo, wt): # 2
return wox+2 + 2 x» w0 » wi + 3

~ O|
= =

def df_dwO(w0, wl):
return 2 » w0 + 2 x wil #w02t w1

# 2 woOl 28 ®EOl=

SOl 2ol JI=010F s

nt
0l0

def df_dwi(w0, wi): # fo wioll 28 HOl=

return 2 = wO + 0 * wil #wO0l 2l AM2 D210 Holl &

np.arange(-w_range, w_range + dw, dw)
w1l = np.arange(-w_range, w_range + dw, dw)
wn = w0.shape[0] # 17 2t=

# print('wn: ', wn)

wwO, wwl = np.meshgrid(w0, wi) # (D)

ff = np.zeros((len(w0), len(w1))) #def f(wO, wl):
df f_dw0O =
df f_dwl =

))) #def df_dwO(w0, wi):
))) #def df_dwi(w0, wi):

len(wl
len(wl

np.zeros((len(w0),
np.zeros((len(wo0),

i0 in range(wn):

for i1 in range(wn):
ffli1, i0] =
df f_dwO[it,
dff_dwi[ift,

for

[iol, wili1l)
df_dwo(wO[i0], wi[i
df_dwi(wo[i0], wi[i

plt.figure(figsize=(9, 4))
plt.subplots_ adJust(wspace 0.3)
plt.subplot(1, 1)

cont = pIt.Contour(WWO, wwl, ff, 10,
cont.clabel (fmt="%2.0f"', fontsize=8)
plt.xticks(range(-w_range, w_range + 1,
plt.yticks(range(-w_range, w_range + 1,
plt.xlim(-w_range - 0.5, w_range + .5)

f (w0
i0] =
i0] =

colors='b') #

1))
1))

plt.ylim(-w_range -
plt.xlabel ("$w_0$",
plt.ylabel ("$w_1$",

plt.subplot(1
plt.
plt.
plt.
plt.
plt.
plt.
plt.
plt.

"$w_03$ "',
"Sw_1$",

xlabel (
ylabel (
(

xlim(-w_range -
ylim(-w_range -
show()

, 2, 2)
quiver (ww0, wwt,

xticks(range(-w_
yticks(range(-w_

.5, w_range + .5)
fontsize=14)
fontsize=14)

dff_dwO, dff_dw1,
fontsize=14)
fontsize=14)

range, w_range + 1,
range, w_range + 1,
0.5, w_range + .5)
.5, w_range + .5)

color="r") # fo AP HE ZA

1))
1))
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8w0

of . 991
Og1

8w0

of  dgo
dg0

f(go(wo, w1), g1(wo, wy)) =

of . Ogn

) 7gM(w07w1))

f(go(wo, w), g1 (wo, w), - -

wo + 2w1 + 1, g1 = 2w + w1 — 1

(90 + 291 — 1)%, go

f=

of
990
of
891

=2(go+291 — 1)

2(go +2g1 —1)-2

090
8’[1)0



6g1
8’[00
of
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2(go+2g1 — 1) - 14 2(go + 291 — 1) - 2-2 = 10g + 20g; — 102 LtEFLHCE
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43 | 4ot 284
off K== gtk 21 g5 AFE3HOF St=7t?
A oy S LIEIW =0, X|gteet 2%

HE7F HE.

+

OlES sdot=0|, ZtEret YEjz gl E.

HT

A
JKLW_
X|=+=2| 89

a>0,ns ¥ FLtH,

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

X = np. linspace(-4, 4, 100)

y = 2%xx #fa = 2
y2 = 3**xx #a = 3
y3 = 0.5*%*x

y4 = np.exp(x)

plt.figure(figsize=(5, 5))

plt.plot(x, y, 'black', linewidth=3, label="'$y=2"x$")
plt.plot(x, y2, 'cornflowerblue', linewidth=3, label="$y=3"x$")

(
plt.plot(x, y3, 'gray', linewidth=3, label="'$y=0.5"x$")
plt.plot(x, y4, 'red', linewidth=3, label="$y=e"x$")
plt.ylim(-2, 6)
plt.xlim(-4, 4)
plt.grid(True)
plt.legend(loc="lower right")
plt.show()



=1

y = log,z

29| ™9

aE 10| Ot Fof A=t g
log,a =1

log,1 =0

E219| ZA

a, b& 10| Ol ol M2t

log,xy = log,x + log,y
loga%-::logam——logay

log,x¥ = ylog,x

logyx
log,x =
logya
X = np.linspace(-8, 8, 100)
y = 2% * X
x2 = np. linspace (0.001, 8, 100) # np.log(0)= eIl TI22 02 EE6HA 23S
y2 = np.log (x2) / np.log (2) # ZL= 22 &t |0gE ZA(7)2 H A
plt.figure(figsize=(5, 5))
plt.plot(x, y, 'black', linewidth=3)
plt.plot(x2, y2, 'cornflowerblue', linewidth=3)
plt.plot(x, x, 'black', linestyle='-=", linewidth=1)
plt.ylim(-8, 8)
plt.xlim(-8, 8)
plt.grid(True)
plt.show()



log H f(n) = i logf(n)

AlOM =2 Fot= X F2 HaFls HEAO| F2

Sk f(x)7F FOIX| 1 O] &4=9 logf(x)2| XA f(x)2!

AN ef@ o] ZAHE f(x)2| X|AFO| =t

log+2| HH

i)

MS CiM o 2 H3SHI AFR E| D

[} A O

rlo

e’ gt 0|22 Thast Al 20 AFS &L
E3| f(xz) = "2l 0|2 f'(z) = e"2t= §2 2 0| 8SIH
Lot logEt2l 0|22

/(@) = (loga) = ~

1

AMOARO|E gty = Tie=

X = np.linspace(-10, 10, 100)
y =1/ (14 np.exp(-x))

plt.figure(figsize=(4, 4))
plt.plot(x, y, 'black', linewidth=3)

plt.ylim(-1,

plt.xlim(=10, 10)

plt.grid(Tru )
(

T
plt.show()
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Jj=0

def softmax(x0, x1, x2):
U= np.exp(x0) + np.exp(x1) + np.exp(x2)
return np.exp(x0) / u, np.exp(x1) / u, np.exp(x2) / u

# test
y = softmax(2, 1, -
print(np.round (y,
print(np.sum (y)

—_ <

) AaE 2 NelZ s Jt2EAH EA
£ =

[0.71 0.26 0.04]
1.0

from mpl_toolkits.mplot3d import Axes3D

xn = 20
x0 = np. linspace(-4, 4, xn)
x1 = np.linspace(-4, 4, xn)

y = np.zeros((xn, xn, 3))
for i0 in range(xn):
for i1 in range(xn):
y[i1, i0, ] = softmax(x0[i0], x1[i1], 1)



In [6]:

xx0, xx1 = np.meshgrid(x0, x
plt.figure(figsize=(8, 3))
for i in range(2):

ax = plt.subplot(1, 2, i

ax.plot_surface(xx0, xx1,
1, cstride=1,
lue', edgecolor="black")
fontsize=14)
fontsize=14)

rstride=
color="b
ax.set_xlabel ('$x_0$",
ax.set_ylabel ('$x_1$",
ax.view_init(40, -125)

plt.show()

" -2 un

ATEWA g4t of2i7)of

O|A2 LIS HE

# elAE 4-4-(9)

2 ChAl 2

(z—
o? EEE,y:aeicp(—

def gauss(mu, sigma, a):

1)

+ 1, projection='3d")

yl:,

YotLt.

)2

il

HE(K)E AHESHE 257 Ao

return a * np.exp(=(x — mu)**2 / sigma*=*2)

x = np. linspace(-4, 4, 100)
plt.figure(figsize=(4, 4))
plt.plot(x, gauss(0, 1, 1),
plt.plot(x, gauss(2 3, 0.5),

(
plt.ylim(-.5, 1.5)
plt.xlim(-4 4)
plt.grid(Tr ue)
plt.show()

'black"',
‘gray’,

| inewidth=3)
[ inewidth=3)

alpha=0.3,

Ol A+ &l
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A=|apa1a12
a2,0 a2,1 a22
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% Gl

Ofl Al

1+72+83+9
4+10 5+11 6+ 12

A+B=

123 N 789 |
456 1011 12

Ljo|M = 0| 8ot0f A 4toHH

_[81012
141618

import numpy as np

A= np.array([[1,2,3],[4,5,6]])

B = np.array([[7,8,9],[10,11,12]1)
A_plus_B=A+8B

A_minus_B = A -8B

print('vector plus: ', A_plus_B)
print('vector minus: ', A_minus_B)

vector plus: [[ 8 10 12]

[14 16 18]]
vector minus: [[-6 -6 -6]
[-6 -6 -6]]
4 =
Ofl A)
4
A=[123,B= |5
6

4
AB=[123]|5| = 1X4 + 2X5 + 3X6 = 32
6

import numpy as np
A= np.array([1,2,3])
B = np.array([4,5,6])

A_mul_B= A.dot(B)
print('A_mul_B: ', A_mul_B)

B_mul_A = B.dot(A)
print('B_mul_A: ', B_mul_A)

A_mul_B: 32



B_mul_A: 32

4 —4
1 2 3

A= ,B=|5 -5
~1-2-3

6 —6

import numpy as np

A= np.array([[1,2,3],[-1,-2,-311])
np.array([[4,-4],[5,-5],

B

A_mul_B = A.dot(B)
print('A_mul_B: ', A_mul_B)

B_mul_A = B.dot(A)
print('B_mul_A: ', B_mul_A)

A_mul_B: [[ 32 -32]
[-32 32]]

B_mul_A: [[ 8 16 24]
[10 20 30]
[12 24 36]]
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# python numpyOll M identity
print(np.identity(3))

[[1.
0.
0.

#python@ & Eolof E Xt

A= np.array([[1,2,3],[4,5,6],[7.8,9]])

print(A)

a = A.dot(np.identity(3))
print(a)

M X|(Transpose): AT

—AA =1

wetHEO| EHECHLER)
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0|2 A A

f(w) = g(w)? g(w) = aw +b
of dg

8f 3f 39 = 2(aw + b)a = 2a*w + 2ab, —— =29, — =a
aw Bg 0w dg dw

X+ Log O] &

T

y(z) = a® ' (z) = a®loga, y = €*, y/(z) = a

y(z) = logz, y(z)' = —

A| 12 0| E(Sigmoid) &=

—

oY@ =yl-y)

4 IO E A (Softmax)

u=e" + e’ 4 ™

3:1%

X‘”—L 2X|— ol-A

= y;(Lij — yi)

DN 7H 4 L&} 7|(AALSHAE E= SHE A

—4_ /| |
wit +1) = w(t) - gi, E w4 1) = w(t) a‘;—f
g 2 N 2 =
Py =N (wozn + w1 — tn)an = = 2 (Yn — tn)Tn
a7 2 N 2 =~
B N (wozn + w1 —ta) = — 2 (Yn — tn)



O 7}t 2 344 3}

oJ oJ oJ

P Pl W

ZX|AEl 3|4 Model
1

v= O'(w():L' + wl) - 1 + e (woz+w1)

1
1+e @

M8 ZX|AE BF DA AERT QX 34

a=woz +wOlH y=o0c(a) =

N-1 N-1

PX) = ] Pltalza) = [T w1 = w) et B2
n=0 n=0
E(w) = —WlogP T|X) = —= Z{t logy, + (1 — t,)log(1 — y,)}
] N1
E(w) = == > (talogyy + (1 ta)log(1 — yn))
n=0

2X|AE 3|70 BRnX AERD oXfes HOE

N-1 N-1K-1
P = [ Pltalza) = H vivityy = [ 1] v 22
n=0 n=0 k=0
1 N-1K-1
E(w) = ——logP(TlX _F tnklogynk



X| &= &t& (Supervised Learning):
S & data(Training Data) 2 £ F StLto| &t4+5 FFHLH 7| 2t

0 2121 'd(Machine Learning)2| o+ 20| C}.

Vetor Type
- wo — - tO —
1 t1
xr = , t=
Ty tn
| ZN-1 | [ IN-1

z,, t, A, 2,2 ¥ B t,2 =

O7|0M= ws FHY, simulation dataE ZHSO0{AM, M 2 ZES HENE 7|2 THLf

H
rE
>
-}

ro
o
&
1o
>
r
mjo
1o
a
rot
il

otzfel ofl =, sMEE 30Ml(z,, #H=)ALO[OH, 71(2,)2| dataE FOtX], oS 1AHH(HH) ZES &
I 272 otot

Ltolet 7|o] 2tA eh+=F 7Hd 2 2 THE04, simulationdt”| fI2t data§ TS0 EA|CE

7hak 8h4 f(x) = k_init - k_rate-e "% + 4*random(z,,)
k_init: 7|2 7|

k_rate: L}O|Qf BEHE 7|9 HIEF
rate: LIO|E X B2 2

4*random(z,,): & &

Ot

FLEOJO M 7[2] s}

r

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

# OO M4
np.random. seed(seed=1) # t==
X_min = 4 # X(LtOl)2 Gt&H(=
X_max = 30 # XX(LIOI)2
X_.n=16# AlE=

X =5+ 25 = np.random.rand(X_n)

# k_init = 170

# k_rate = 108
# rate = 0.2
k_init = 170
k_rate = 108



rate = 0.2

# T =Prm_c[0] - Prm_c[1] * np.exp(-Prm_c[2] = X) W

# + 4 = np.random.randn(X_n) # (A)

T = k_init — k_rate * np.exp(-rate » X) + 4 * np.random.randn(X_n)
print(np.round(X,2))

print(np.round(T,2))

np.savez('ch5_data.npz', X=X, X_min=X_min, X_max=X_max, X_n=X_n, T=T) # (B)

[15.43 23.01 5. 12.56 8.67 7.31 9.66 13.64 14.92 18.47 15.48 22.13
10.11 26.95 5.68 21.76]

[170.91 160.68 129. 159.7 155.46 140.56 153.65 159.43 164.7 169.65
160.71 173.29 159.31 171.52 138.96 165.87]

O|AS dgjmg AMEH

plt.figure(figsize=(4, 4))

plt.plot(X, T, marker='o', linestyle='None',
markeredgecolor="black', color="cornflowerblue')

plt.xlim(X_min, X_max)

plt.title('age and height(simulation)")

# plt.xlabel ('LIOI") #error

plt.xlabel('age")

plt.ylabel('height")

plt.grid(True)

plt.show()

age and height(simulation)
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M 2 Y2 7t AR AdS 0230 goh=2A0|0t

oll) y(x) = 1.6x + 133

O|AS 1] &}

def f(x):
return 1.6*x + 133

X = np.linspace(4, 30, 16)

plt.figure(figsize=(4, 4))
plt.plot(X, T, marker='o', linestyle='None',
markeredgecolor="black', color="cornflowerblue")

plt.plot(x, f(x), color = 'g', label="$y(x) = 1.6x + 133%")
plt.legend(loc = 'upper left')

plt.xlim(X_min, X_max)

plt.title('age and height(simulation)")
# plt.xlabel ('LtOI") #error
plt.xlabel('age")

plt.ylabel('height")

plt.grid(True)

plt.show()

age and height(simulation)

180 1 —— y(x) = 16x+ 133
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10
1o

N
icT]
—

= B M& 22X (mean square error: mse, MSE) 2,

212 o= 2+ 1t A Mol XHo| M= 2| B OlLCt.

wo 2w, ©] ZHEH JE AL A=, A wyw, 2 #o M2,
CIO[E{Oll A A BiofLt J7t A AHTICE

o a8 =8 2H O wyotw, & MHSIEELE J7F 00| E4&= QiCh
CHR| Z| A2k wy 2w, & RO =2 0L},

P wo,w; 2| A E DAHZE M, TH 2= EX

from mpl_toolkits.mplot3d import Axes3D
# H 22X &=
def mse_line(x, t, w): #J= 31&%6%55 2
y = w[0] » x + w[1] # wO*
mse = np.mean((y — t) =
return mse #return J

# A&

wn = 100 # S0& HAl off
wO_range = [-25, 25] # w02l & <
wi_range = [120, 170] # w12l & 2|

w0 = np.linspace(wO_range[0], wO_rangel[1], wn) # w02l 2= 1t data point, 1009 point
wi np. linspace(wli_rangel[0], wi_range[1], wn) # w12l 2t 1} data point, 100JH point
wwO, wwl = np.meshgrid(w0, wi)

# print(wwO0)
J = np.zeros((len(w0), len(w0))) #J &2
for i0 in range(wn):
for i1 in range(wn):
J[i1, i0] = mse_line(X, T, (wO[iO], wi[i1])) # wO,wi2l 2f PointOl CHSt Jgt K-

P

P

tol

Il

# T Al
plt.figure(figsize=(15, 7))

# plt.figure(figsize=(9.5, 4))
plt.subplots_adjust(wspace=0.5)

ax = plt.subplot(1, 2, 1, projection='3d")
ax.plot_surface(ww0, wwtl, J, rstride=10, cstride=10, alpha=0.3, #2& w0, wiOl A2l JEA



color="blue', edgecolor="'black")
ax.set_xticks([-20, 0, 20])
ax.set_yticks([120, 140, 160])
ax.view_init(20, -60)

plt.title('3D J: MSE")
plt.xlabel ("$w_0$")
plt.ylabel ("$w_1$")
# plt.zlabel ('$J$")

plt.subplot(1, 2, 2)

cont = plt.contour(wwO, wwi, J, 30, colors='black",
levels=[100, 1000, 10000, 100000])

cont.clabel (fmt="%1.0f', fontsize=8)

plt.grid(True)

plt.title('Contour J: MSE")

plt.xlabel ("$w_0$")

plt.ylabel ("$w_1$")

plt.show()

Contour J: MSE
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w(t+1) =w(t) — aVwJ|,;,

el wgts CHe Jel woll oiet HolE, VWJ|w(t)% wt X Ho A2 )72 7| S LIEHHLY,

Lot o= SEE0[2ta 611, 07| M= we| AL ZFS LIEHHCY,
wo(t +1) = wo(t) — aVweJ| o))
W]_(t + 1) — W]_(t) - aleJ'wo(t),'wl(t)
1 N-1 1 N-1
T= =S e —ta) = =3 (woma + w1 — £,)°2 2E, 2 8 HO| 22 Hao,
N n=0 N n=0
N—-1 N-1
oJ 2 2
- - ('wO«'En +wyp — tn)wn - — (yn - tn)«'En
awO N n—0 N n=0
N-1 N-1
oJ 2 2
= - (wan +wyp — tn) - — ('yn - tn)
(9’[1)1 N n=0 N n=0
He|stH
9 N-1
wo(t+1) = wo(t) —a— Z(yn —tn)Tn
N n=0
2 N-1
wi(t+1) =wi(t) —a— > (yn—tn)
N n=0
OlEA Fel=lRA2L, o] A2 AFH7I ALt U= E S5HH, AFH7I Z2ES HA0|CL

Z2IYUZ MR, +4{0] 00| S CIST Yefs| Tpefes Ut

=2 Ojo|M =2 20f =3 AS M 0]oF7| O X2t

]
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def dmse_line(x, t, w): #2f w0, wiet xti g, tHH%% Bt O}
y = wl[0] » x + w[1] #xt8H S0l 28 yoi Z Iéfékﬂ
d_w0 = 2 » np.mean((y - t) * x) #wOO0il OIOF o
d_wl =2 = np.mean(y - t) #wl10 2/t HOI2
return d_w0, d_wl

=
[

ole] BwownoMel 7[=7| & & Ql5HAL

d_w = dmse_line(X, T, [10, 165])
print(np.round(d_w, 1))

org_d_w = dmse_line(X, T, [1.6, 133])
print(np.round(org_d_w, 1))

[5046.3 301.8]
[-61.7 -4.5]

?le] Z1t= (w0=10, w1=165) 2 wol| 7|2 7|==5046.3, w12| 7| 27[=301.80|2t= Z

20|t
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def fit_line_num(x, t)
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w_init = [10.0, 165.0] # =D OHJH B, CINANSRH FHS AMEZAQUINE 2F,
F

t
#(wO,w1)2 DeZaoz (o zHES &5, 2H2 ERH AMAT=A0I

alpha = 0.001 # &2

i_max = 100000 # Bt=9 x| <%, R =25 2IXstI)|l 2ol

eps = 0.1 # B2 =2 JI=2J/9 22U g2 &H, 0.022 ot Z2 X0t

#28 gt2s d)|Adl 22 2x2H =0 It=2101 ELCF.

w_i = np.zeros([i_max, 2]) #(wO,wl)BHiE =D|3

w_il[0, ] = w_init #AI& & =

print('AlZ& Point: ', w_i[0])

for i in range(1, i_max): #1~100000 Et= %8 =HX| eps=0.10lct)} A& 0 gt=
dmse = dmse_line(x, t, w_i[i — 1]) #dmse: w0, w12l errorl HOlE M= =gt
w_ili, 0] = w_i[i - 1, 0] — alpha » dmse[0] # wO(t) = wO(t-1) — axJ2| wOoH O[S
w_ili, 1] = w_i[i = 1, 1] - alpha » dmse[1] # wi(t) = wi(t-1) — axJ2| wiEOls
if max(np.absolute(dmse)) < eps: # =2 & A | np.absolutes ZE X

break

wo = w_i[i, 0] #=2Z2& w0l gt

wl = w_il[i, 1] #=52& wio gt

w_i = w_il:i, ] #2220 EMA M= wo,wie sHE, NHEXNES =206tI| 2ol

return w0, wi, dmse, w_i

of¢fol ZutE e 2 =Qldl =Lt

plt.figure(figsize=(4, 4)) # MSESl S04 HEAl

xn = 100 # s20& H& T

wO_range = [-25, 25]

wi_range = [120, 170]

x0 = np. linspace(wO_range[0], wO_range[1], xn)

x1 = np. linspace(wi_rangel[0], wi_range[1], xn)

xx0, xx1 = np.meshgrid(x0, x1)

J = np.zeros((len(x0), len(x1)))

for i0 in range(xn):

for i1 in range(xn):
JIi1, i0] = mse_line(X, T, (x0[i0], x1[i1]))

cont = plt.contour(xx0, xx1, J, 30, colors='black",
levels=(100, 1000, 10000, 100000))

cont.clabel (fmt="%1.0f', fontsize=8)

plt.grid(True)

# FHIE S=

WO, W1, dMSE, W_history = fit_line_num(X, T)

# Z2UE D]

print('gt= &4 {0}'. format(W_history.shape[0]))

print('2=2 A& W=[{0:.6f}, {1:.6f}]". format(W0, W1))

print('dMSE=[{0:.6f}, {1:.6f}]".format(dMSE[O], dMSE[1]))

print('MSE={0:.6f}".format(mse_line(X, T, [WO, Wi])))

plt.plot(W_history[:, O], W_history[:, 1], '.=",

color="red', markersize=10, markeredgecolor="'cornflowerblue')

plt.title( 'DMSE Trace')
plt.xlabel ('$w_0$")
plt.ylabel ("$w_1$")



plt.show()

A& Point: [ 10. 165.]
gts =2 13820
22 AlE W=[1.539947, 136.176160]

[

dMSE=[-0.005794, 0.099991]
MSE=49.027452

DMSE Trace
170 : ,
‘ 2 1 o "g
160 - % 1
|
150 4
S o
140 - %
130 - % \
120 L —1—— ! | |

=20 -10 0 10 20

o] 217 =& &AL

AlE} Point: wO= 10, w1= 1650 M2 E error7t ZAst= B0 2 T woE 09| o2 T

rII

H2 314+ 138203
etz A w0=1.539947, w1=136.1761600|C}.
Zt2+O| dMSE: wO_dMSE= -0.005794, w1_dMSE= 0.099991

MSE(Z X errordt2| ©h): 49.027452

wo, w12 = Tl a2, Z27[ZL0M wogtel Het7t 322, woE Bt A|Z (1001 M 0gete
E)I

wOOf olot X[ HHE O 2 TIlists widfS HItA|AH(165-> 136 2)7tHA,
1 X| ™A CHA| woS (00| A 1.58t8FC 2) 224 0|50 ZHCt.
Ol X|EE M85t =& CtA| d2{FA|CH

def f(x):

return 1.6*x + 133

def f_new(x):
return 1.539947xx + 136.17616

X = np. linspace(4, 30, 16)
plt.figure(figsize=(4, 4))
plt.plot(X, T, marker='o', linestyle="'None',

markeredgecolor="black', color="cornflowerblue")

plt.plot(x, f(x), color = 'g", label="$y(x) = 1.6x + 133%")



'$y(x) = 1.54x + 136.2%")

label

Irl,

plt.plot(x, f_new(x), color

= 'upper left')

legend(loc

plt.

X_max)
plt.title('age and height(simulation)"')
# plt.xlabel ('LFOI") #error

plt.xlim(X_min,
plt.xlabel('age")

plt.ylabel('height")
plt.grid(True)
plt.show()

age and height(simulation)
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2RIl 71871 E 00l B2, 712717t 00l 5l KFelw, 2L = 03t 2L = 08 53}
w0 w1y
wow, & FoH &,
import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline
#load data
outfile = np.load('ch5_data.npz')
X = outfile['X']
X_min = outfile['X_min']
X_max = outfile['X_max']
X_n = outfile['X_n"]
T = outfile['T']
def mse_line(x, t, w):
y = wl0] = x + w[1
mse = np.mean((y — t)**2)
return mse
def show_line(w):
xb = np. linspace(X_min, X_max, 100)
y = w[0] * xb + w[1]
plt.plot(xb, vy, color=(.5, .5, .5), linewidth=4)
oJ 2 Nl( + tn) 0
_— wox w1 — ty)Ty =
6’(1)0 N _ 0Ln 1 n)Ln
n=>0
aJ 2 ¥4
awl N _ ( 0Ln 1 n)
n=0
1 N1 1 N1 1 N1
2 _ T 2 _ 2 2. - 2
WZwoxn—woNZ n=w <z ><x >—N 4 Tn
n=0 n=0 n=0
1 N1
Ml 7|2 — Tp =< 1T >
N 4
n=0
1 N—1( . o) 1 N1 - 1 N1 1 N—1t .
— WL w1 — ty) Ty = — WL — WLy — — Ty =
N _ 0Ln 1 n )Ln N _ 0Ln N _ 1Ln N _ ndn
n=0 n=0 n=0 n=0
1 N1 1 N1 1 N1
F 4 wlwn:quZmn:wl<m>,<w>=Nan
n=0 n=0 n=0
lth 1N_lt <txr>,<tr> 1N4t
— Ty = — T, =< tx T >= — x
N nLn N n4n ) N n4n

wy<z2> 4w <z>—<tr>=0
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Fur :Wz(wow”+w1_t"):w°<x>+wl_<t>:0
n=0

w =<t>-—wy<z>YULEF,
wo < 2> 4w <z >— <tz >= 00 LYt Ha|sHH,

<tr>-—<t><xz>
<zz>—<z>?

woy =

<tr>-—<t><x>
<x2>—<z>2?
O| 0| f(w)2| s{A3HO|LCt.

wy =<t>—

£} Model 21 A0|2t= 70| A=, = XIS 2 EH= B 48l 7} ZHERE = QU0

no
I

2] ZAt ol S AFEE 2RVt fleLt,

S8 7F LS K| K| L= Model| M= ZAF SFAE O 2 8|2 13} 0f

# ofl & o
def fit_line(x, t):

mx = np.mean(x)

mt = np.mean(t)

mtx = np.mean(t * x)

mxx = np.mean(x * x)

wO = (mtx — mt = mx) / (mxx — mx**2)

wl = mt — w0 * mx

return np.array([w0, wi])

# ool

W= fit_line(X, T)

print("wo={0:.3f}, wi={1:.3f}". format(W[O], W[1]))

mse = mse_line(X, T, W)

print("Sb={0:.3f} cm". format(np.sart(mse)))

plt.figure(figsize=(4, 4))

show_line(W)

plt.plot(X, T, marker='o', linestyle="'None',
color="cornflowerblue', markeredgecolor="black")

plt.xlim(X_min, X_max)

plt.grid(True)

plt.show()

w0=1.558, w1=135.872
SD=7.001 cm
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5.3 2X+# 2= model
X = (zg,z1) => x : age, x; : weight

. height? .
weight = 23xT‘?O + noise

import numpy as np

import matplotlib.pyplot as plt

%matplotlib inline

from mpl_toolkits.mplot3d import Axes3D #for raspberry pi 4

#X0: LEOI, X1t I

outfile = np. load('ch5_data.npz')
X0 = outfile['X']

XO_min = outfile['X_min']

X0_max = outfile['X_max']

X0_n = outfile['X_n']

T =outfile['T']

np.random.seed(seed=1) # 442 DA

X1 =23 % (T / 100)**2 + 2 * np.random.randn(X0_n)
X1_min = 40

X1_max = 75

# 2% OOIEHS EA
def show_data2(ax, x0, x1, t):

for i in range(len(x0)):
ax.plot([x0[i], x0[il], [x1[il], x1[ill,
[120, t[i]], color="'gray')

ax.plot(x0, x1, t, 'o',
color="cornflowerblue', markeredgecolor="black"',
markersize=6, markeredgewidth=0.5)
ax.view_init(elev=35, azim=-75)

# 0O ol
plt.figure(figsize=(6, 5))

ax = plt.subplot(1,1,1,projection="'3d")
show_data2(ax, X0, X1, T)

plt.show()
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160
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140

y(x) = wozo + wiz1 + w0l A,

-

wo, w1, wo Ol LY €4S E0] O] fIX|Q 7| 27|18 &= HE HEESUAS
XM U O| sl Mslf(datalll XXl w = [wp, w1, we]E TFSH=A)

TR0 A QL OFEEZHA| 2 Bt M & 2KH(J)S LHEFLHE

1 N-1 1 N-1
J = F 2 (y(:z:n) — tn)2 = F nz:%(’wown’mo + wixp,1 + w2 — tn)2

ws 0| HO| o 2{yeFs ot =1, 20 et 37+ #ot=0|, I7F 7H ZoHK| =
W

IOt Z|Assl= A& o we 7|27|7Fo(ED|£0] 0), 2L =0, 2L —0, 2L —
Ow ow1 ow?2
wOQ]WsigiU]lf: : (;?TJO = % Zflv Ol(wO33n0 +w1wn1 + wy — t )l’n’o

:2{w0<mg>+w1<a:0:c1>+w2<:co>—<txo>}:0
wl R oL 2 Zn O(wown0+’w1$n1+’w2 ty)Tna
= 2{wy < Zoz1 > +tw; <> 4wy <z > — <tw; >} =0

wo ol DAL 2 = 257w g+ wizns +wy — )

=2{wy <y > tw; <1 > Fwy— <t >} =0
O 37| AEEAZ FelstH

cov(t, 1 )cov(xg, 1) — var(x)cov(t, zq)

woy =

cov(t, zo)cov(xo, 1) — var(xo)cov(t, z1)

( (
cov(zo, x1)? — var(zo)var(z:)
( (
) )

cov(zo, 1)% — var(zo)var(z;

Wy = —Wy < xyg > —wy <x1 >+ <t>




def show_plane(ax, w):
px0 = np. linspace(X0_min, XO_max, 5)
px1 = np. linspace(X1_min, X1_max, 5)
px0, px1 = np.meshgrid(px0, px1)
y = wl0l*px0 + w[1] * px1 + w[2]
ax.plot_surface(px0, px1, y, rstride=1, cstride=1, alpha=0.3,
color="blue', edgecolor="'black")

#9 O MSE
def mse_plane(x0, x1, t, w):
y = w[0] = xO + w[1] * x1 + w[2] # (A)
mse = np.mean((y — t)*=*2)
return mse

# 0ol
plt.figure(figsize=(6, 5))

ax = plt.subplot(1, 1, 1, projection='3d")
W= 1[1.5 1, 90]

show_plane(ax, W)

show_data2(ax, X0, X1, T)

mse = mse_plane(X0, X1, T, W)
print("SD={0:.3f} cm".format(np.saqrt(mse)))
plt.show()

SD=12.876 cm

# ofl & o
def fit_plane(x0, x1, t):
c_tx0 = np.mean(t *» x0) — np.mean(t) * np.mean(x0)
c_tx1 = np.mean(t *» x1) — np.mean(t) * np.mean(x1)
c_x0x1 = np.mean(x0 * x1) - np.mean(x0) * np.mean(x1)
v_x0 = np.var(x0)

v_x1 = np.var(x1)

w0 = (c_tx1 = c_xOx1 — v_x1 * c_tx0) / (c_xOx1%%2 — v_x0 * v_x1)
wl = (c_tx0 * c_xOx1 — v_x0 * c_tx1) / (c_xOx1%*2 — v_x0 * v_x1)
w2 = -w0 * np.mean(x0) — w1 = np.mean(x1) + np.mean(t)

return np.array([w0, wi, w2])

# 0ol ¢l
plt.figure(figsize=(6, 5))

ax = plt.subplot(1, 1, 1, projection='3d")

W= fit_plane(X0, X1, T)

print("w0={0:.1f}, wi={1:.1f}, we={2: . 1f}". format(W[O], W[1], W[2]))
show_plane(ax, W)

show_data2(ax, X0, X1, T)



mse = mse_plane(X0, X1, T, W)
print("sb={0:.3f} cm".format(np.sart(mse)))
plt.show()

w0=0.5, wi=1.1, w2=89.0
SD=2.546 cm
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n=0
N-1
> (whxn — tn)xa = [0,0,-,0]
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HOIHYE S 22 52 S0 HO[H7t A=H22 255

Y 7IMg s, 4 7M=& 8ot, A 7| g2 =
STt

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

# OOIE 2&
outfile = np.load('ch5_data.npz')
X = outfile['X']

X_min = outfile['X_min']

X_max = outfile['X_max']

X_n = outfile['X_n"]

T = outfile['T']

$i(z) = eacp{ w2 }

O] 7tfA &4=E programdt™

def gauss(x, mu, s):
return np.exp(—=(x — mu)x*2 / (2 = sx%2))

M= 4
plt.figure(figsize=(4, 4))
mu = np.linspace(5, 30, M)

s = mu[1] - mu[O] # (A)
xb = np.linspace(X_min, X_max, 100)
for j in range(M):
y = gauss(xb, mulj], s)
plt.plot(xb, y, color="gray', linewidth=3)

plt.grid(True)
plt.xlim(X_min, X_max)
plt.ylim(0, 1.5)

plt.show()



14

12 A

y(z) = wogo(z) + w1¢1(z) + wag2(z) + wsgs(z) + wsOAM,

wo = —2,w; = 3,ws = —1,w3 = 2,wy = 102 S} Q=& J2{LH,
plt.figure(figsize=(4, 4))
yy = —-2xgauss(xb, mu[0], s) + 3xgauss(xb, mu[1], s) - gauss(xb, mul[2], s) + 2xgauss(’
plt.plot(xb, yy, color="red', linewidth=3)
plt.grid(True)

plt.show()

11.5 1

11.0 1

10.5 4

10.0 -

dm
=)
ret

2 OHX[8 wy = 100] 54 ¢oto] B 0|55 =2ot= 2% A= otk

Olg2 F=2 ApF LA E[L|, 2 7|Hs=7| HHEtCh
Ol&2 ¢y(x) = 10|2t1 310, TH| 4= L=} St H

M
y(z,w) = Z w;d;(z) = w’p(x)

7=0
1 N-1

of Zutof W2 ME 2XE J(w) = > (wWp(zn) — ta)?
n=0

OIZtE 1A KM R B HE A J(w) = = Y (W' xn — )’ FALE HEHE IHRI2
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AN

Of

OfX| datall %= wo, w1, weE T-OL=Cl, ENZt XS+ F22 M3 S o717t & &3,

b

etA X3 E AHESHO S & 7

ook

E}O|M1O| scipy.optimizeOl &£l minimize®f =& AFESI0] XX D/ H+E Tl SR
Ty

—

OI-

Olgf4 i 2422 THE B0t D7) #40| X7] 20 50, #40| 0|22 FX|QOLE Of7f
B0 4G LOHY,

0| 42| model2 model_UZ &}H,

# 24 U
def model_U(x, w):
y = wl0] — wl1] = np.exp(-w[2] * x)
return vy

# DY A HEA
def show_model_U(w):

xb = np. linspace(X_min, X_max, 100)

y = model_U(xb, w)

plt.plot(xb, v, c=[.5, .5, .5], Iw=4)

# 22 A9 MSE
def mse_model_U(w, x, t):
y = model_U(x, w)
mse = np.mean((y — t)*=*2)
return mse

from scipy.optimize import minimize

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

outfile = np. load('ch5_data.npz')
X = outfile['X"]

X_min = outfile['X_min']

X_max = outfile['X_max']

X_n = outfile['X_n"]

T = outfile['T']

# 22 AS OHIH B F S
def fit_model_U(w_init, x, t):
resl = minimize(mse_model_U, w_init, args=(x, t), method="powel ")
return rest.x




plt.figure(figsize=(4, 4))

W_init=[100, 0, 0]

W= fit_model_U(W_init, X, T)

print("wo={0:. 11}, wi={1: . 1f}, we={2: . 1f}". format(W[O], W[1], W

show_mode | _U(W)

plt.plot(X, T, marker='o', linestyle='None',
color="cornflowerblue' ,markeredgecolor="black"')

plt.xlim(X_min, X_max)

plt.grid(True)

mse = mse_model_U(W, X, T)

print("Sb={0:.2f} cm". format(np.sart(mse)))

plt.show()

w0=169.0, wi1=113.7, w2=0.2
SD=3.86 cm

170 4

160
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140 +
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120

5 10 15 20 25 30

A= sp=3.86cmZ XM model SD=7.001cmECH E W ZHA| LIEFL,
(o) E
model 2| /1 EH

9;% SO A0 A, O{H modelO| LHE2X| OfE A EHE

# WXt A3 model_A
def kfold_model_U(x, t, k):
n = len(x)
mse_train = np.zeros(k)
mse_test = np.zeros(k)
for i in range(0, k):
x_train = x[np.fmod(range(n), k
t_train = t[np.fmod(range(n), k)
n), k)
)

x_test = x[np. fmod(range(
t_test = t[np.fmod(range(n),

FSf{ Of

wm = fit_model_U(np.array([169, 113 0.2]), x_train, t_train)

mse_train[i] = mse_mode!_U(wm, x_train, t_train)
mse_test[i] = mse_model_U(wm, x_test, t_test)
return mse_train, mse_test

|‘O

# O
K = 16

Cv_A_train, Cv_A_test = kfold_model_U(X, T, K)

mean_A_test = np.sqgrt(np.mean(Cv_A_test))

# print("Gauss(M=3) SD={0:.2f} cm".format(mean_Gauss_test[1]))
print("Model A SD={0:.2f} cm".format(mean_A_test))



# SD = np.append(mean_Gauss_test[0:5], mean_A_test)
# M = range(6)
# |abe| — [||M=2H , ||M=3H , HM=4|I , I\M:SH , HM=6I| , |IMOde| All]

# plt.figure(figsize=(5, 3))

# plt.bar(M, SD, tick_label=label, align="center",
# facecolor="cornflowerblue")

# plt.show()

Model A SD=4.72 cm



6 Class(&5F)
6.1 1XtR 23 2Class

2| HE2XN 2t & F(class)= Al

gHENE S data’t AHE =X, 2FREZMOM &

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline
# OOIH M4
np.random.seed(seed=0) # 445 0O &

X_min = 0

X_max = 2.5

X_n = 30

X_col = ['cornflowerblue', 'gray']
X = np.zeros(X_n) # 22 0l 0lH

T = np.zeros(X_n, dtype np.uint8) # = OO0l &
Dist_s = [0.4, 0.8] # X2 A& XI&

Dist_w = [0.8, 1.6] # EXL°o =

Pi =0.5# 224 09 HIE

for n in range(X_n): #30J12l Datasl
wk = np.random.rand()

Tlnl = 0 * (wk < Pi) + 1 % (wk >= Pi) # wkJl 0.52Ct
np.random.rand() = Dist_w[T[n]] + Dist_s[T[n]]

X[n]

print('X="+ str(np.round(X, 2)))
print('T=" 4+ str(T))

X=[

=[1.9 11 1.41 1.65 2.28 0.47 1.07 2.19
1
1.

67 0.92 1.
0.850.89 1.79 1.89 0.75 0.9 1.87 0.5 0.

]

1.94 1. 2 2.08
.46 1.02 0. 69 1.
21 0.6

348 1, HoH

# a2 2
1.02 0.91 1.16
5 0.96 0.53

T=[110011100110001000110110011010]

O| DATAS HA|SHEH

def show_datal(x, t):
K= np.max(t) + 1
for k in range(K): # (A)

plt.plot(x[t == k], t[t == k], X_col[k], alpha=0.5,

linestyle="'none', marker='0") # (B)
plt.plot(x, 0.75%*x-0.43, color="'red")
plt.grid(True)
plt.ylim(-.5, 1.5)

data— class.

g2g.(052 =

ShA

-

=g



plt.xlim(X_min, X_max)

plt.yticks([0, 1])

2l

#18

(3, 3))

figure(figsize

=)

linestyle

1.5], color="k"',

[-.5,

C—— — — o~

fig = plt
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wE 0~1ALO|0| o1 T=0,0,0,10|2t= dataS M HRCtD 7+

0|5 &3l 71 Etdet wE HOtL|=Z 0| of &
A SZ5HH F 42[0M t=10] 12| 810fl S17|H20 w=1/4(5 0.25)0|2t11 42t

SHE w=01% 42, w=Pt=1x)=0.122 2 t=1% =& 0.1,t=0¥ =& 1-0.1 = 090 AM2| 7} =
=0.9X0.9X0.9 X 0.1 =0.0729

SHE w=02% 42 F 2=P(t=1|x)=02¥22 t=1¢ HE2 0.2, t=02 ZHE 1-02=080M 7ls=
=0.8 X 0.8 X 0.8 X0.2 = 0.1024

2 LIELEEH,

2l EH w=0.12 7t5 % 0.0729, w=02L [} 7}5 &= 0.10242 7ts 7t =2 w=0.2%0| &
XMoo= ECt

1] o¢

Z M 22 7ts R E #EA0| 2|t Tts .

_._

Pt=1|x)=w(t=10| & 2 &) t=00] & SE2 (1-w)
P(T=0,0,0,1x)=(1 — w)3w

0|4 Jef=Z2 122 HO|AHS Jej=2 I

#2210 &0l Tt display: f(x) = (x=1)(x+1)(x+3)
import numpy as np

import matplotlib.pyplot as plt

%matplotlib inline

# def f(x, k):
# return (x=k)*(x+1)*(x+k)

# x = np.linspace(-3, 3, 200) # -3 ~ 3AI0IE 200 H 2 LI+ O

# plt.plot(x, f(x, 2), color = 'g', label="$k=2%")
# plt.plot(x, f(x, =1), color = 'red', label="$k=-1$")
w = np.linspace(0.0, 1.0, 100)
def f(w):
return (1-w)**3%w

#color: r=%2, b=II&, g==2M,6 c=AlC, m=0t&E}, y=&, k=8F, w=white
plt.plot(w, f(w), color = 'g', label="$f(w) = (

plt.legend(loc = 'upper left')

plt.ylim(-0.00, 0.14)

#plt.title('$f(x, k) = (x=k)(x+1)(x+k)$")

plt.title( '$Maximum Likelihood")

plt.xlabel ('$w$')

plt.ylabel ('$P$")

plt.grid(True)

plt.show



<function matplotlib.pyplot.show(xargs, *xkw)>

£Maximum Likelihood
0.14
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import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline
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def logistic(x, w):
y=1/(1+np.exp(=(w[0]*xtw[1])))
return vy

def show_logistic(w):
xb=np. linspace(X_min, X_max, 100)
y=logistic(xb, w)
plt.plot(xb, y, color="gray', linewidth=4)
i=np.min(np.where(y>0.5))
B=(xb[i-1]+xbli])/2
plt.plot([B, B], [-.5, 1.5], color="k', linestyle='——")
plt.grid(True)
return B

W=[8, -10]
show_logistic(W)
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n=0

def cee_logistic(w, x, t):
y=logistic(x, w)
cee=0
for n in range(len(y)):
cee=cee—(t[n]*np. log(y[n])+(1=t[n])*np.log(1-y[n]))
cee = cee/X_n
return cee

W=[1, 1]
cee_logistic(W, X, T)

1.0288191541851066

from mpl_toolkits.mplot3d import Axes3D

# H &

xn =80 # SU&E EA T

w_range = np.array([[0, 15], [-15, O]]) #w0: 0~15, wi: —15~0

x0 = n) #w0: 0, 0.18987342, ..... 15

np. linspace(w_range[0, 0], w_range[0, 1], x
x1 = np.linspace(w_range[1, O], w_rangel[1, 1], xn) #wl: —15, —-14.81012658, ..... 0
xx0, xx1 = np.meshgrid(x0, x1)
C = np.zeros((len(x1), len(x0))) #[[0,,.,0], [0,,,,0]] 80x80
w = np.zeros(2) #w=[0, 0]
for i0 in range(xn):
for i1 in range(xn):
wl0] = x0[i0]
wi1] = x1[i1]
Cli1, i0] = cee_logistic(w, X, T)

# HEAl
plt.figure(figsize=(12, 5))
#plt.figure(figsize=(9.5, 4))
plt.subplots_adjust(wspace=0.5)




ax = plt.subplot(1, 2, 1, projection='3d")
ax.plot_surface(xx0, xx1, C, color="blue', edgecolor="black',

rstride=10, cstride=10, alpha=0.3)
ax.set_xlabel ('$w_0$', fontsize=14)
ax.set_ylabel('$w_1$"', fontsize=14)
ax.set_xlim(0, 15)
ax.set_ylim(=15, 0)
ax.set_zlim(0, 8)
ax.view_init(30, -95)

plt.subplot(1, 2, 2)

cont = plt.contour(xx0, xx1, C, 20, colors='black"',
levels=[0.26, 0.4, 0.8, 1.6, 3.2, 6.4])

cont.clabel (fmt="%1.1f', fontsize=8)

plt.xlabel ("$w_0$', fontsize=14)

plt.ylabel ('$w_1$', fontsize=14)

plt.grid(True)

plt.show()
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def dcee_logistic(w, x,
y = logistic(x, w)
dcee = np.zeros(2)
for n in range(len(y)):
dcee[0] = dceel[0] + (yI[n] - tIn]) = xI[n]
dcee[1] = dcee[1] + ]

dcee = dcee / X_n

return dcee

# —— test
W=[1, 1]
dcee_logistic(W, X, T)

array([0.30857905, 0.39485474])
O| A0 A SHE B2 ME3H0 X F | Of7H &#H <~ (wq, wy)= +ot= HHAIZ HESt= g,

scipy.optimize2t0| 221 2| 2| minimize( &+ 2 %X ZtS LOFH.
from scipy.optimize import minimize

# OHOH B HM
def fit_logistic(w_init, x, t):
rest = minimize(cee_logistic, w_init, args=(x, t),
jac=dcee_logistic, method="CG") # (A)
return rest.x

# ool
plt.figure(1, figsize=(3, 3))
W_init=[1,-1]

W= fit_logistic(W_init, X, T)
print("w0 = {0:.2f}, wi = {1:.2f}". format(W[O], W[1]))

B=show_logistic(W)
show_datai(X, T)



plt.ylim(-.5, 1.5)

plt.xlim(X_min, X_max)

cee = cee_logistic(W, X, T)

print("CEE = {0:.2f}". format(cee))
print("Boundary = {0:.2f} g".format(B))

plt.show()
wOo = 8.18, wi = -9.38
CEE = 0.25

Boundary = 1.15 g
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6.2 2XI2 22 datad| CHSt classEF

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

# OIOIE dd

np.random.seed(seed=1) # H=+=2 O &

N =100 # GIOIEH S =

K=3# X =

T3 = np.zeros((N, 3), dtype=np.uint8)# 8bit data, 3xt&

T2 = np.zeros((N, 2), dtype=np.uint8)# 8bit data, 2xt&

X = np.zeros((N, 2)) #2X & input

X_range0 = [-3, 3] # X A HEA =2

X_rangel = [-3, 3] # X1°| B A 2

Mu = np.array([[ .5, -.5], [.5, 1.0], [1, -.5]]) # 2229 =4
Sig = np.array([[.7, .71, 1.8, .3], [.3, .8]]) # 2o =24
Pi = np.array([0.4, 0.8, 1]) # (A) 2@ E=Z0l st HI€ 0.4 0.8 1

for n in range(N):#input, output datazis
wk = np.random.rand()#2 2| O B4 =M A

for k in range(K): # (B)
ifowk < Pil[k]: # Pi[k]J} 222 MAE wk2CH IH
T3[n, k] = 1 #ol & output2 1
break #0tLIH LI Xl T3[n, k] = 022 A AatD W& L.

for k in range(2): #0tehe =40 ek, input data setting
X[n, k] = (np.random.randn() * SiglT3[n, :] == 1, k]
+ Mul[T3[n, :] == 1, kI)
T2[:, 0] = T3[:, O] #2X& 2 0X+2 outputS XS OXZE = Al

T2[:, 1] = T3[:, 1] | T3[:, 2] #2Xt& 2 11Xt output2 X2 1,2X2 R 2= &4

print('-—————— X S MK ————- ")
print(X[:5, :])
print('———— T2 SR ———— ")
print(T2[:5, :1)
print('-————— T3 S DK ———— ")

print(T3[:5, :1)

—————— X 58 IEK ———-
14173827  0.86533666]
86972023 —1.25107804]
15442802  0.29474174]
75523128 0.92518889]
.10193462  0.74082534]]
—————— T2 B X ————
([0 1]

[10]

[10]

(0 1]

(1 0]]
—————— T3 MK -

—LOI‘\)OO
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HZ defl=Z==2 042 ™



def show_data2(x, t):
wk, K = t.shape
c=1[[.5, .5, .5], I
for k in range(K):

plt.plot(x[t[:,

1,

1,

] ==

11,

, 0

[0, 0, 0]] #Color HHE setting

I, x[tl:, kI == 1, 1],

linestyle='none', markeredgecolor="'black",
marker='0', color=c[k], alpha=0.8)

plt.grid(True)

# 0 e

plt.figure(figsize=(7.5, 3))
plt.subplots_adjust(wspace=0.5)

plt.subplot(1, 2, 1)
show_data2(x, T2)
plt.xlim(X_range0)

plt.ylim(X_ranget)

plt.subplot(1, 2, 2)
show_data2(X, T3)
plt.xlim(X_range0)
plt.ylim(X_rangel)

plt.show()
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def logistic2(x0, x1,

w):
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y =1/ (14 np.exp(=(w[0] » xO + w[1] » x1 + w[2])))

return vy

from mpl_toolkits.mplot3d import axes3d

def show3d_logistic2(ax, w):

xn = 50
x0 = np. linspace(X_range0[0], X_rangeO[1], xn) #-3~3S
x1 = np. linspace(X_range1[0], X_rangel[1], xn) #-3~3S

xx0, xx1 = np.meshgrid(x0, x1)

504
504

#k=0, k=1, k=

2



y = logistic2(xx0, xx1, w) #=Z H At
ax.plot_surface(xx0, xx1, y, color="blue', edgecolor="'gray', #2352 302 H A
rstride=5, cstride=5, alpha=0.3)

def show_data2_3d(ax, x, t):
c=[[.5, .5, .51, [1, 1, 1]]
for i in range(2):
ax.plot(x[tl[:, i] == 1, 0], x[t[:, il ==1, 1], 1 = i, #2 outputOl CHaH, 2 ¢
marker='0', color=c[i], markeredgecolor="'black",
linestyle="'none', markersize=5, alpha=0.8)
Ax.view_init(elev=25, azim=-30)

# test —

Ax = plt.subplot(1, 1, 1, projection='3d")

W=[-1, =1, —1] #0HOH H=2=DIF [-1,-1,-1]2l H=L0
show3d_logistic2(Ax, W) #=ES 3d=2 1&.

show_data2_3d(Ax,X,T2) #&/, =2 DATAS 112 #2, == DATAZE 1&g

In [5]:

def show_contour_logistic2(w):
xn = 50 # Wet0lHe =2 =
x0 = np. linspace(X_range0[0], X_rangeO[1

1, xn)
x1 = np. linspace(X_rangel1[0], X_rangel1[1], xn)
xx0, xx1 = np.meshgrid(x0, x1)
y = logistic2(xx0, xx1, w)
cont = plt.contour(xx0, xx1, vy, levels=(0.2, 0.5, 0.8),
colors=['k"', 'cornflowerblue', 'k'])
cont.clabel (fmt="%1.1f", fontsize=10)
plt.grid(True)

# test —
plt.figure(figsize=(3,3))
W=[-1, -1, -1]
show_contour_logistic2(W)
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def cee_logistic2(w, x, t):
X_n = x.shape[0]
y = logistic2(x[:, 0], x[:, 1], w)
cee = 0
for n in range(len(y)):

cee = cee — (t[n, 0] » np.log(y[n]) +

(1 = tln, 01) » np.log(1 - y[nl))

cee = cee / X_n
return cee

E(w)Oil CH3ll, Of7 g <=0f 2 HO|ZS ot H,

_z_z(y tn)xo
n 0
a_wl:_z(y tn)xl
a—w;—Z(y —1,)

of Ho| 2o Chs) B45 Po}

def dcee_logistic2(w, x, t):
X_n=x.shape[0]
y = logistic2(x[:, 0], x[:, 1], w)
dcee = np.zeros(3)
for n in range(len(y)):

dcee[0] = dcee[0] + (y[n] - t[n, 0]) =
dcee[1] = dcee[1] + (y[n] - t[n, 0]) =
dcee[2] = dceel[2] + (y[n] - t[n, 0])

dcee = dcee / X_n
return dcee

# test —
W=[-1, -1, —-1]
dcee_logistic2(W, X, T2)

array([ 0.10272008, 0.04450983, -0.06307245])



O[gt2, W=[-1, -1, -1]0| M| HOJF Z gL

252 0| Bt uXt AEZL QAL X471 E|= 075 F5t=2210,,
from scipy.optimize import minimize

# 2XNAE 3 2O O H=> 2 M -
def fit_logistic2(w_init, x, t):
res = minimize(cee_logistic2, w_init, args=(x, t),
jac=dcee_logistic2, method="CG")
return res.x

# Olel
plt.figure(1, figsize=(7, 3))
plt.subplots_adjust(wspace=0.5)

Ax = plt.subplot(1, 2, 1, projection='3d")

W_init = [-1, 0, 0]

W= fit_logistic2(W_init, X, T2)

print("w0 = {0:.2f}, wl = {1:.2f}, w2 = {2:.2f}" format(W[O], W[1], W[2]))
show3d_logistic2(Ax, W) #datalll [}E & Z graph

show_data2_3d(Ax, X, T2) #data dot graph
cee = cee_logistic2(W, X, T2)
print("CEE = {0:.2f}". format(cee))

Ax = plt.subplot(1, 2, 2)

show_data2(X, T2) #Contour dot Zleff =
show_contour_logistic2(W) #Contour _1cHZ
plt.show()

w0 = -3.70, wl = -2.54, w2 = -0.28
CEE = 0.22

minimize( & =0f| Ol gt MESID, A7 27|22 7 H+E ¢
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wE Y x0M R (class) ko YA S ZHSt= D7 B

K-1
u= Z ek
k=0

ek
V= 7 (k=0,1,2)

OI:I EI—':! X = [)Co,xl,x2]oL|EI|IX2E 'cé)l-g 1.
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Of ZEO &8y, y.0,= 4 LB I S =&

P(T=[1,0,0]|x)(class 0), P(T=[0,1,0]|x)(class 1), P(T=[0,0,1]|x)(class 2)& LIEIL} =2 St&
3 class& EXA|AE 3| HEE S g2 LIEHLHH,

testOf A= 3702] X7:3,0] 7 xT:3, 1143 A2 ot w70 Zgho= Ml

def logistic3(x0, x1, w):
=3
= w.reshape((3, 3))
len(x1)
np.zeros((n, K))
or k in range(K):
yl:, k]l = np.exp(w[k, 0] = xO + wl[k, 1] = x1 + w[k, 2])
wk = np.sum(y, axis=1)

K
W
n
y
f

wk = y. T / wk
y = wk. T
return vy
# test ——
print('-————- test 21 ———- ")

W= np.array([1, 2, 3, 4 ,5, 6, 7, 8, 9])
y = logistic3(X[:3, 0], X[:3, 1], W)
print(np.round(y, 3))

—————— test 21 ——
[[o. 0.006 0.994]
[0.965 0.033 0.001]
[0.925 0.07 0.005]]



M line2 x,0ll CHSt class 0, 1, 2Y &HE
FHA line2 x, Off TSt class 0, 1, 2% =&

MR line= x,0fl TSt class 0, 1, 2 &HE

WAt AEZ 20| @K}

P(T = [1,0,0]|.X) = y,

P(T'=[0,1,0]|X) =y,

P(T=[0,0,1]|X) = y,= Lutst5101, 3+ 22 X0 TS SHEAIS LIEHLY D
P(T|X) = yy v

Of Mojichsh, P(T = [0, 1,0]|X) = yoy1»3 = ¥,

2= NS dataZt S E 2HE2 EE datalf &0t & =0,

N-1 N-1 N-1K-1
t t t t
PTX)=[ [ Pt lx,) = [T olmoyimyte = TT [T i
n=0 n=0 n=0k=0

O[O Chet Et WAt AE 2L X} E(W)

1 1N—l 1N—lK—l
EW)= - NlogP(T|X) Y Z P(t,|x,) = — N Z Z tlogy i
n=0 n=0k=0

0|5 g2 LIEILHE

def cee_logistic3(w, x, t):
X_n = x.shape[0]
y = logistic3(x[:, 0], x[:, 1], w)
cee = 0
N, K = y.shape
for n in range(N):
for k in range(K):
cee = cee — (t[n,
cee = cee / X_n
return cee

k] * np.log(y[n, kI))

# test ———-

print(’ test ")

W= np.array([1, 2, 3, 4 ,5, 6, 7, 8, 9]) #test= OHIMHH=
cee_logistic3(W, X, T3)

3.9824582404787288
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test_dcee=0.0

def dcee_logistic3(w, x, t):
X_n = x.shape[0]
y = logistic3(x[:, 0], x[:, 1], w)
dcee = np.zeros((3, 3)) # (2 A2 % K) x (xo X& D+H1)
N, K = y.shape
for n in range(N):
for k in range(K):
dcee[k, :] = dceelk, :]1 - (tln, kI = y[n, kI)* np.r_[x[n, =], 1]
dcee = dcee / X_n
test_dcee = dcee
return dcee.reshape(-1)

# test —-

print('—————- test:2 woll CHet ®OI2 2 —— ")
print('N:{0}, K:{1}"'.format(N,K))

W= np.array([1, 2, 3, 4 ,5, 6, 7, 8, 9])
result=dcee_logistic3(W, X, T3)

print(test_dcee)

print(result)

—————— test:2t woll CHgt BOIE 2D ————mv
00, K:3

N
0.
[

OO =

.03778433 0.03708109 -0.1841851 -0.21235188 -0.44408101 -0.38340835
0.17456754 0.40699992 0.56759346]

minimize()E 0| &3t0, X| 0] D7) B4 HMs-Hot+S 2SS H

e

def fit_logistic3(w_init, x, t):
res = minimize(cee_logistic3, w_init, args=(x, t),
jac=dcee_logistic3, method="CG")
return res.x

s

rr
ot

contour Z21HS EA|S} =

def show_contour_logistic3(w):

xn = 30 # Wet0IEHS 2& =
x0 = np. linspace(X_range0[0], X_rangeO[1], xn)
x1 = np. linspace(X_rangel[0], X_range1[1], xn)

xx0, xx1 = np.meshgrid(x0, x1)
y = np.zeros((xn, xn, 3))
for i in range(xn):
wk = logistic3(xx0[:, il, xx1[:, il], w)
for j in range(3):
ylo, 0, §1 = wkl:, j]
for j in range(3):
cont = plt.contour(xx0, xx1, y[:, :, jl,
levels=(0.5, 0.9),
colors=["'cornflowerblue', 'k'])
cont.clabel (fmt="%1.1f", fontsize=9)
plt.grid(True)

W_init = np.zeros((3, 3))

W= fit_logistic3(W_init, X, T3)
print(np.round(W.reshape((3, 3)).,2))
cee = cee_logistic3(W, X, T3)
print("CEE = {0:.2f}". format(cee))



(3, 3))

plt.figure(figsize
show_data2(X, T3)

show_contour_logistic3(W)

plt.show()
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a = wyx, T wx; T w,x,

v=0la)=1/(1+")

— Gl o I
7 REO| =3t X HH
input: x = g, £1, 2o(1), G17IM 3| Xy= 19| A7 SEEL
1

=o(a) = ——
y=ola) ==
a = WoTo + WiT1 + wal2
input2 &t 2SS AEFUs H

7| Y Z == wo, w1 2 zoE dummy input:1

2= U8 B, a=wozo + wiz1 + wa7t a(M 28 A2
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import numpy as np
# OOIH MK
np.random.seed(seed=1) # Y45 DA

N =200 # OOIEH2 =

K=3# X2 =

T = np.zeros((N, 3), dtype=np.uint8)
X = np.zeros((N, 2))

X_range0 = [-3, 3] # X092 &<, ZAES
X_rangel = [-3, 3] # X129 &<, ZAES
Mu = np.array([[-.5, -.5], [.5, 1.0],
Sig = np.array([[.7, .7], [.8, .3], [
Pi = np.array([0.4, 0.8, 1]) # 28 230 CHst H]
for n in range(N):
wk = np.random.rand()
for k in range(K):
if wk < Pi[k]:
Tln, k] =1
break
for k in range(2):
X[n, k] = np.random.randn() * Sig[T[n, :] == 1, k] + #
MulT[n, :] == 1, K]

datas 2 data®t test dataZ =

TestRatio = 0.5

X_n_training = int(N * TestRatio)
X_train = X[:X_n_training, :]
X_test = X[X_n_training:, ]
T_train = T[:X_n_training, :]
T_test = T[X_n_training:, :]

# HIOIE{E 'class_data.npz' 0l M &



np.savez('class_data.npz', X_train=X_train, T_train=T_train,
X_test=X_test, T_test=T_test,
X_range0=X_range0, X_rangel=X_rangel)

dataE 12| B

import matplotlib.pyplot as plt
%matplotlib inline

# QIOIEHE 22l
def Show_data(x, t):
wk, n = t.shape
¢ = [[0, 0, 0], [.5, .5, .5], [1, 1, 1]]
for i in range(n):
plt.plot(x[t[:, i] == 1, 0], x[t[:, il == 1, 1],
linestyle="none',
marker="'o"', markeredgecolor="'black",
color=c[i], alpha=0.8)
plt.grid(True)

# 0Ol ol
plt.figure(1, figsize=(8, 3.7))
plt.subplot(1, 2, 1)
Show_data(X_train, T_train)
plt.xlim(X_range0)
plt.ylim(X_ranget)
plt.title('Training Data')

plt.subplot(1, 2, 2)
Show_data(X_test, T_test)
plt.xlim(X_range0)
plt.ylim(X_rangel)
plt.title( 'Test Data')

plt.show()
3 Training Data 3 Test Data
2 2
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259| Ol Xt AMZAT Bk Feed Forward Neuron Network(FFNN)
22 x9| datas: N x D(N7H 2| data set, DA2)

=3 yO| data5™: N x K(N7H 9| data set, K £F)

SUEL U7 H==ZHEX) W: M x (D+1)2| W&

ST WHHFCIEX) ViKx M+1)2] B




Wetvel HEE wZE EAlSHs HH:

N

6 7 8
9 10 11
12 13 14

0 1 2
3 4 5

v

O|of| CH$t array= wv= np.array([0,1,2,3,4,5,6,7,8,9,10,11,12,13,14])

Ol= 7 H=E oh20f| HOFROf, 2| Het Z2 W2 BHE7| &
FNNe| =22 I E=

def Sigmoid(x):
y =1/ (1+ np.exp(-x))
return vy

# UWER3

def FNN(wv, M, K, x):
N, D = x.shape # &= Xt&
w=wlM=* (D+ 1)] # S2UE w19 IHEX
W = w.reshape(M, (D + 1))
v=wMx (D+ 1):] # 25 %19 IIEX
v = v.reshape((K, M + 1))
b =np.zeros((N, M+ 1)) # E2= =eio 2 =&
z =np.zeros((N, M+ 1)) # 2= melo =<
a=np.zeros((N, K)) # =25 Helo ¢ 5&
y = np.zeros((N, K)) # =& welo ==
for n in range(N):

# SS9 At
for m in range(M):
bln, m] = np.dot(w[m, :], np.r_[x[n, ],

z[n, m] = Sigmoid(b[n, m])
# 22839 A
zln, M] 1 # 0
wkz = 0
for k in range(K):
aln, k] = np.dot(vlk, :1, zln,
wkz = wkz + np.exp(aln, k])
for k in range(K):
y[n, k] = np.exp(aln, k]) / wkz
returny, a, z, b

el

1)

# test —

WV = np.ones(15)

M= 2

K=3

ENN(WV, M, K, X_train[:2, :1)

(array([[0.33333333, 0.33333333, 0.33333333],
[0.33333333, 0.33333333, 0.33333333]]),

array([[2.6971835 , 2.6971835 , 2.6971835 ],
[1.49172649, 1.49172649, 1.49172649]]),

array([[0.84859175, 0.84859175, 1 1,
[0.24586324, 0.24586324, 1. 1),

array([[ 1.72359839, 1.72359839, 0. 1,
[-1.12079826, -1.12079826, O. 11))
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def CE_FNN(wv, M, K, x, t):
N, D = x.shape
y, a, z, b = FNN(wv, M, K, x)
ce = —np.dot(np. log(y.reshape(-1)), t.reshape(-1)) / N
return ce

# test —

WV = np.ones(15)

M=2

K=3

CE_FNN(WV, M, K, X_train[:2, :], T_trainl[:2, :])

1.0986122886681098

ol g5 EH 07 H = wot vE LHZt A7, wE AHEE.

F20|z 0|t 20| M2 2 H O|dfisH F0{0F &

CESHCELFNNE 0= 23 datax, S H datat, HERA 37| Mt KE Y.
FNNO| xOfl T3 y2 S2{81 3, yo} +2 H|D}0] 24 AN E 2|7} AlAE.
A otd e MBI /i A et D H+-2 HO|Z0| EQ,

OIS +XX 0|28 0|83}0f 22 P&+ US

oE | _ Blw+e - B¢

i 2¢
o 24742 OHZHEH 2= wo, wy, we Q! BR0=

oF ~ E(’LUO-I—G,'lUl,’LUQ)—E(QUO—G,'Wl,'LUQ)
dw, |w0,w1,w2 - %

w1, w2 Off CHOH M &= OFEEZER| 2 B S O 7] 4= 2| of D7l #4=& 17g510] |2 +A.

rlo
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0| 213t CE_LFNNS| =X| 0|2 S £3SHe B4+ dCE_FNN_numE BHE .

def dCE_FNN_num(wv, M, K, x, t):

epsilon = 0.001

dwv = np.zeros_Ilike(wv)

for iwv in range(len(wv)):
wv_modified = wv.copy()
wv_modified[iwv] = wv[iwv] - epsilon
msel = CE_FNN(wv_modified, M, K, x, t)
wv_modified[iwv] = wv[iwv] + epsilon



mse2 = CE_FNN(wv_modified, M, K, x, t)
dwvliwv] = (mse2 - msel) / (2 = epsilon)
return dwv

#-——dVW2| E Al
def Show_WV(wv, M):

N = wv.shape[0]

plt.bar(range(1, M = 3 + 1), wv[:M = 3], align="center", color="'black")

plt.bar(range(M = 3 + 1, N+ 1), wv[M » 3:],

align="center", color="cornflowerblue")
plt.xticks(range(1, N + 1))
plt.xlim(0, N+ 1)

test——-
=2

=3

nwv =M= 3+ K=+ (M+ 1)

np. random. seed(1)

WV = np.random.normal (0, 1, nWV)

dWV = dCE_FNN_num(WV, M, K, X_train[:2, :1, T_train[:2, :])
print(dwv)

plt.figure(1, figsize=(5, 3))

Show_WV (dwv, M)

plt.show()

#_
M
K

[ 0.0884813 0.19157999 -0.05139799 0.01281536 —0.14468029 -0. 14242768
-0.02992012 0.01351315 -0.11115648 -0.10104422 -0.09427964 —0.46855603
0.13096434 0.08076649 0.57971252]

0.6

04 1

0.2 4 I
0.0 1 L -

Ol g4 BERI2HE AA St o2 = &4 Fit FNN_numO|2} 81,
import time

=X 022 AI828 Y ————
def Fit_FNN_num(wv_init, M, K, x_train, t_train, x_test, t_test, n, alpha):

wvt = wv_init

err_train = np.zeros(n)

err_test = np.zeros(n)

wv_hist = np.zeros((n, len(wv_init)))

epsilon = 0.001

for i in range(n): # (A)
wvt = wvt — alpha = dCE_FNN_num(wvt, M, K, x_train, t_train)
err_train[i] = CE_FNN(wvt, M, K, x_train, t_train)
err_test[i] = CE_FNN(wvt, M, K, x_test, t_test)
wv_hist[i, :] = wvt

return wvt, wv_hist, err_train, err_test

# 0 e




startTime = time.time()
M=2
K=3
np. random. seed(1)
WV_init = np.random.normal (0, 0.01, M * 3 + K x (M + 1))
N_step = 1000 # (B) & & CH
alpha = 0.5
WV, WV_hist, Err_train, Err_test = Fit_FNN_num(
WV_init, M, K, X_train, T_train, X_test, T_test, N_step, alpha)
calculation_time = time.time() - startTime
print("Calculation time:{0:.3f} sec".format(calculation_time))

Calculation time:654.243 sec

print("Wv_init:{0}". format(WV_init))

Wv_init:[ 0.01624345 -0.00611756 -0.00528172 -0.01072969 0.00865408 -0.02301539
0.01744812 -0.00761207 0.00319039 -0.0024937  0.01462108 -0.02060141
-0.00322417 -0.00384054 0.01133769]

| 25 HEBH7|?I8H, 7S Xl(w,v)el Z=7|Zf2 2 wv_init, &3 data, test dataS &

(@)

OF

oIS HAER test data2| AT =HQISH0], @B H|EO0| LO{LIX| HES 20l

test data®| YE = D74 2| o550 = AHESHA| B

ajo

Fint_FNN_num(wv_init, M, K, x_train, t_train, x_test, t_test, n, alpha)0f| A{,

=2 XA SE Oj7) #H a2l wet

=

Uh

n2 S5 EHA, alphat &5 &=,

ot THAOf ogh 2%

Ot

o Bt

0

plt.figure(1, figsize=(3, 3))

plt.plot(Err_train, 'black', label="training")
plt.plot(Err_test, 'cornflowerblue', label ='test")
plt. legend()

plt.show()

— fraining
test
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plt.figure(1, figsize=(3, 3))
plt.plot(WV_hist[:, :M = 3], 'black")
plt.plot(WV_hist[:, M = 3:], 'cornflowerblue')
plt.show()
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def show_FNN(wv, M, K):
xn = 60 # SU& ZAl oHAE
x0 = np. linspace(X_range0[0], X_rangeO[1],
x1 = np. linspace(X_rangel[0], X_rangel[1]
xx0, xx1 = np.meshgrid(x0, x1)

xn)
xn)

’

X = np.c_[np.reshape(xx0, xn * xn, 1), np.reshape(xx1, xn = xn, 1)]

y, a, z, b = FNN(wv, M, K, x)
plt.figure(1, figsize=(4, 4))
for ic in range(K):

f=yl:, ic]

f = f.reshape(xn, xn)

f=1f.T

cont = plt.contour(xx0, xx1, f, levels=[0.8, 0.9],

colors=["'cornflowerblue', 'black'])
cont.clabel (fmt="%1.1f', fontsize=9)
plt.xlim(X_range0)
plt.ylim(X_rangel)

# BAE HA

plt.figure(1, figsize=(3, 3))
Show_data(X_test, T_test)
show_FNN(WV, M, K)

plt.show()
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def Sigmoid(x):

y =1/ (1+ np.exp(-x))
return vy
# HERAZ
def FNN(wv, M, K, x):
N, D = x.shape # 2 x&
w=wlM*x (D+ 1)] # 245 w2 &7l
w = w.reshape(M, (D + 1))
v=w[Mx D+ 1):] # 225 el IIEX
v = v.reshape((K, M + 1))
b= np.zeros((N, M+ 1)) # S2t= =l 2= =&
z =np.zeros((N, M+ 1)) # S5 =&lo =<
a=np.zeros((N, K)) # =285 welo g &g
y = np.zeros((N, K)) # =25 wglo =<
for n in range(N):
# SUS2 H
for m in range(M):
bln, ml = np.dot(wlm, =1, np.r_[x[n, 1, 11) # (A)
z[n, m] = Sigmoid(b[n, m])
# EESO A
z[ln, Ml = 1 # GOl &



wkz = 0
for k in range(K):
aln, k] = np.dot(vlk, =1, z[n, 1)
wkz = wkz + np.exp(aln, kI)
for k in range(K):
y[n, k] = np.exp(aln, k]) / wkz
returny, a, z, b

def CE_FNN(wv, M, K, x, t):
N, D = x.shape
y, a, z, b = FNN(wv, M, K, x)
ce = —np.dot(np. log(y.reshape(-1)), t.reshape(-1)) / N
return ce

def dCE_FNN_num(wv, M, K, x, t):

epsilon = 0.001

dwv = np.zeros_like(wv)

for iwv in range(len(wv)):
wv_modified = wv.copy()
wv_modified[iwv] = wv[iwv] - epsilon
msel = CE_FNN(wv_modified, M, K, x, t)
wv_modified[iwv] = wv[iwv] + epsilon
mse2 = CE_FNN(wv_modified, M, K, x, t)
dwv[iwv] = (mse2 - msel) / (2 * epsilon)

return dwy

import numpy as np

import time

import matplotlib.pyplot as plt
%matplotlib inline

outfile = np.load('class_data.npz")
X_train = outfile['X_train']
T_train = outfile['T_train'l]

X_test = outfile[ 'X_test']

T_test = outfile['T_test']

X_range0 = outfile['X_range0']
X_rangel = outfile['X_rangel']

def dCE_FNN(wv, M, K, x, t):
N, D = x.shape
print('D:', D)
print('N:', N)
w2 wet ve H =g
= wv[:M * +

#
#

(
w. reshape
wv[M = (D
v.reshape
X=

z,

HFL << = = HF

W @ M0

g H40 =4
dwv = np.zeros_like(wv)
dw = np.zeros((M, D + 1
dv = np.zeros((K, M + 1
deltal = np.zeros(M) #
delta2 = np.zeros(K) #
for n in range(N): # (A)

# @ &H8s5° QAE P56

for k in range(K):

delta2[k] = (y[n, k] - t[n, kJ])
# O ZAUS2 2AE Fot)]
for j in range(M):

X
5 Xk =0 P22 MB5IX %S)

deltatlj] = z[n, jI = (1 = z[n, jI) * np.dot(v[:, jl,

# @ ve JI=2J| dvE R5HD

delta?)



for k in range(K):

k, :]1 = dvlk, :] + delta2[k] » z

v
# @ wol JI127] dwE R5tII
for j in range(M):
dwlj, ] = dwlj,
# dwlt dvE

return dwv

A2l dwE BF= |

dwv = np.c_[dw.reshape((1, M = (D + 1))), W
dv.reshape((1, K = (M + 1)))]
dwv = dwv.reshape(-1)

def Show_dWV(wv, M):
N = wv.shape[0]

plt.bar(range(1,
align="center",

M* 3+ 1), wil:M= 3],

color="'black")

plt.bar(range(M = 3+ 1, N+ 1), wv[M » 3:]

align="center",

plt.xticks(
plt.xlim(0,
#— S & =0l
M=2
K=3
N=2

range(1,
N+ 1)

np.random. seed(1)

WV = np.random.normal (0, 1,

print (Wv)

My = M* 3+ K= (M+ 1)

[n, :T /N

21 + deltatl[j] = np.r_[x[n, =1, 11 / N

’

color="cornflowerblue')
N+ 1))

nwv)

dWV_ana = dCE_FNN(WV, M, K, X_train[:N, :], T_tr

print("analytic
print (dWv_ana)

al dwv")

dWV_num = dCE_FNN_num(WV, M, K, X_train[:N, :],

print("numerica
print (dWV_num)

| dwv")

plt.figure(1, figsize=(8, 3))
plt.subplots_adjust(wspace=0.5)

plt.subplot(1,
Show_dWV (dWV_an
plt.title('anal
plt.subplot(1,
Show_dWV (dWV_nu

2, 1)
a, M)
itical')
2, 2)
m, M)

plt.title( 'numerical")

plt.show()

[ 1.62434536 0.
1.74481176 0.

-0.3224172 -0.

analytical dWv

[ 0.08848131 0.

-0.02992012 O.
0.13096434 O.

numerical dWwv

[ 0.0884813 0.

-0.02992012 0.
0.13096434 0.

61175641
7612069
38405435

19158
01351315
08076649

19157999
01351315
08076649

.52817175 -1.07296862
.3190391  -0.24937038
.13376944]

.051398 0.01281536
.11115649 -0.10104422
.57971253]

.05139799 0.01281536
.11115648 -0.10104422
.57971252]

ain[:N, :1])

T_train[:N, :])

0.86540763 -2.3015387
1.46210794 -2.06014071

-0.14468029 -0.14242768
-0.09427964 -0.46855604

-0.14468029 -0.14242768
-0.09427964 -0.46855603
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import time

# ol DIES AI2S PHE ———-
def Fit_FNN(wv_init, M, K, x_train, t_train, x_test, t_test, n, alpha):
wv = wv_init.copy()
err_train = np.zeros(n)
err_test = np.zeros(n)
wv_hist = np.zeros((n, len(wv_init)))
epsilon = 0.001
for i in range(n):
wv = wv — alpha * dCE_FNN(wv, M, K, x_train, t_train) # (A)
err_train[i] = CE_FNN(wv, M, K, x_train, t_train)
err_test[i] = CE_FNN(wv, M, K, x_test, t_test)
wv_hist[i, ] = wyv
return wv, wv_hist, err_train, err_test

# 0l
startTime = time.time()
M=2
K=3
np. random. seed(1)
WV_init = np.random.normal (0, 0.01, M * 3 + K » (M + 1))
N_step = 1000
alpha = 1
WV, WV_hist, Err_train, Err_test = Fit_FNN(
WV_init, M, K, X_train, T_train, X_test, T_test, N_step, alpha)
calculation_time = time.time() - startTime
print("Calculation time:{0:.3f} sec".format(calculation_time))

Calculation time:94.852 sec

def Show_data(x, t):

wk, n = t.shape

¢ = [[0, 0, 0], [.5, .5, .5], [1, 1, 1]]

for i in range(n):

plt.plot(x[t[:, il == 1, 0], x[t[:, i] == 1, 1],

linestyle="none"',
marker="'o"', markeredgecolor="'black",
color=c[i], alpha=0.8)

plt.grid(True)

def show_FNN(wv, M, K):

xn = 60 # SOE TEAl AT
x0 = np. linspace(X_range0[0], X_rangeO[1], xn)
x1 = np. linspace(X_range1[0], X_range1[1], xn)
xx0, xx1 = np.meshgrid(x0, x1)
X = np.c_[np.reshape(xx0, xn * xn, 1), np.reshape(xx1, xn * xn, 1)]



y, a, z, b = FNN(wv, M, K, x)
plt.figure(1, figsize=(4, 4))
for ic in range(K):

f=yl[:, icl
f = f.reshape(xn, xn)
f=1f.T

cont = plt.contour(xx0, xx1, f, levels=[0.8, 0.9],
colors=['cornflowerblue', 'black'])
cont.clabel (fmt="%1.1f", fontsize=9)
plt.xlim(X_range0)
plt.ylim(X_rangel)

plt.figure(1, figsize=(12, 3))
plt.subplots_adjust(wspace=0.5)
# S5 QLI HEA
plt.subplot(1, 3, 1)

plt.plot(Err_train, 'black', label="training")
plt.plot(Err_test, 'cornflowerblue', label="test")
plt. legend()

# OIS X2 Al2E #Hg ZEA|
plt.subplot(1, 3, 2
plt.plot(WV_hist[:, :M = 3], 'black")
plt.plot(WW_hist[:, M = 3:], 'cornflowerblue")
# 3AE EA
plt.subplot(1, 3, 3)
Show_data(X_test, T_test)

M=2
K=3
show_FNN(WV, M, K)
plt.show()
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# 2l AE 7-1-(14)
from mpl_toolkits.mplot3d import Axes3D

def show_activation3d(ax, v, v_ticks, title_str):

f = v.copy()
f = f.reshape(xn, xn)
f=1.T

ax.plot_surface(xx0, xx1, f, color="'blue', edgecolor='black',
rstride=1, cstride=1, alpha=0.5)

ax.view_init(70, -110)

ax.set_xticklabels([])

ax.set_yticklabels([])

ax.set_zticks(v_ticks)

ax.set_title(title_str, fontsize=18)



xn = 15 # SO EA &S
x0 = np. linspace(X_range0[0], X_rangeO[1], xn)
x1 = np. linspace(X_rangel[0], X_rangeli[1], xn)

xx0, xx1 = np.meshgrid(x0, x1)
X = np.c_[np.reshape(xx0, xn * xn, 1), np.reshape(xx1, xn * xn, 1)]
y, a, z, b= FNN(WV, M, K, x)

fig = plt.figure(1, figsize=(12, 9))
plt.subplots_adjust(left=0.075, bottom=0.05, right=0.95,
top=0.95, wspace=0.4, hspace=0.4)

for m in range(M):
ax = fig.add_subplot(3, 4, 1 + m = 4, projection='3d")
show_activation3d(ax, b[:, m], [-10, 10], '"$b_{0:d}$".format(m))
ax = fig.add_subplot(3, 4, 2 + m = 4, projection='3d")
show_activation3d(ax, z[:, m], [0, 1], "$z_{0:d}$".format(m))

for k in range(K):
ax = fig.add_subplot(3, 4, 3 + k = 4, projection='3d")
show_activation3d(ax, al:, k], [-5, 5], '$a_{0:d}$"'.format(k))
ax = fig.add_subplot(3, 4, 4 + k » 4, projection='3d")
show_activation3d(ax, y[:, k], [0, 1], "$y_{0:d}$'.format(k))

plt.show()
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7.3 keras &S raspberry pi 40| A A&

= =
O|0] Mest IS keras library 2t tensorflows XH-835H0] A&

%reset

Once deleted, variables cannot be recovered. Proceed (y/[n])? vy

import numpy as np

import matplotlib.pyplot as plt
import time

np.random.seed(1) # == =J|3}
import keras.optimizers #

from keras.models import Sequential #

from keras.layers.core import Dense, Activation #

#class_data.npz2 S H data load
outfile = np.load('class_data.npz")
X_train = outfile['X_train']
T_train = outfile['T_train']

X_test = outfile['X_test']

T_test = outfile['T_test']

X_range0 = outfile['X_range0']
X_rangel = outfile['X_rangel']

def Show_data(x, t):

wk, n = t.shape

¢ = [[0, 0, 0], [.5, .5, .5], [1, 1, 1]]

for i in range(n):

plt.plot(x[t[:, i] == 1, 0], x[tl[:, il == 1, 1],

linestyle='none', marker='o",
markeredgecolor="black"',
color=c[i], alpha=0.8)

plt.grid(True)

Dense & 7|3} et9| £ X

tf.keras.layers.Dense(
units, #input dimention
activation=None, #& 2%} activation&+ Y

use_bias=True, #bias -2 F 7, default &
kernel_initializer="glorot_uniform",
bias_initializer="zeros",
kernel_regularizer=None,
bias_regularizer=None,
activity_regularizer=None,
kernel_constraint=None,
bias_constraint=None,
**kwargs

np.random. seed(1)

# Sequential 24Xl model2 M4
model = Sequential()

#modell &= F=Jtotd U
#Z2H=0O 2| Dense(HZ g

0x
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N
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32 +X

é%)

i

oﬁrm



mode !l .add(Dense(2, input_dim=2, activation='sigmoid', #2 =& —-—> input_dim=2, activa
kernel_initializer="uniform')) # JI=S Xl OffH==C=DIgte 2L 4=
# model .add(Dense(3,activation="'softmax",
mode | .add(Dense(3, input_dim=3, activation='softmax"',
kernel_initializer="uniform"))
# st HdYsS EF, I1(&88 %)
d = keras.optimizers.SGD(Ir=2, momentum=0.0,
decay=0.0, nesterov=False)
a5, SAEL+E Wi HEZI Xz 48, &5 EI= accuracyx H A
| ile(optimizer=sgd, loss='categorical_crossentropy',
metrics=['acc'])
metrics=['accuracy'])

o

startTime = time.time()

# a5 A

#batch_size: 1A =2 JI2J1 HAO AIEE = StE data ==,
#epochs: M il dataE &0 &Es 3=

history = model.fit(X_train, T_train, epochs=1000, batch_size=100,
# verbose=1, validation_data=(X_test, T_test)

) # (E)
verbose=0, validation_data=(X_test, T_test)) # (

E)

# 2 "o 21
score = model.evaluate(X_test, T_test, verbose=0) # (F)
print('cross entropy {0:3.2f}, accuracy {1:3.2f}'W
. format(score[0], score[1]))
calculation_time = time.time() - startTime
print("Calculation time:{0:.3f} sec".format(calculation_time))

cross entropy 0.26, accuracy 0.90
Calculation time:117.046 sec

keras home page https://keras.io

ZiE J2EH

plt.figure(1, figsize = (12, 3))
plt.subplots_adjust(wspace=0.5)

#8885 36 HA
plt.subplot(1, 3, 1)

plt.plot(history.history['loss'], 'black', label="training') # Training data®l &&=
plt.plot(history.history['val_loss'], 'cornflowerblue', label="test') # Test data®l &

plt.legend()

ol

# HET ZA
plt.subplot(1, 3, 2)

# plt.plot(history.history['acc'], 'black', label="training') # (C)

# plt.plot(history.history['val_acc'], 'cornflowerblue', label="test') # (D)
plt.plot(history.history['accuracy'], 'black', label="training') # Trasinig data®l =&
plt.plot(history.history['val_accuracy'], 'cornflowerblue', label="test') # Test data
plt. legend()

# A EA
plt.subplot(1, 3, 3)

Show_data(X_test, T_test)

xn =60 # S0 HEA AT

x0 = np. linspace(X_range0[0], X_rangeO[1], xn)
x1 = np. linspace(X_rangel[0], X_rangeli[1], xn)
xx0, xx1 = np.meshgrid(x0, x1)




X = np.c_[np.reshape(xx0, xn * xn, 1),
y = model.predict(x) # (E)
K=3
for ic in range(K):
f=yl:, icl
f = f.reshape(xn, xn)

plt.

f=1T

cont = plt.contour(xx0, xx1, f,
"black'])

‘cornflowerblue',

cont.clabel (fmt="%1.1f", fontsize=9)

plt.xlim(X_range0)
plt.ylim(X_rangel)
show()
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8 27IM =Xt &
FE

{Ef|: 28x28(Gray scale image:256THA|), &3 Data™

8.13%

3 Data® {Ef: 0~9 =X}

Train Data: 60,000, Test Data: 10,000

i x_train data= x_train[i,:,], y_train data+= y_train[i]

#3112l dataE LIEtLHE,

from keras.datasets import mnist
(x_train, y_train), (x_test, y_test)

mnist. load_data()

Downloading data from https://storage.googleapis.com/tensorflow/tf-keras—datasets/mnis
t.npz
11493376/11490434 [

] - 1s Ous/step

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

plt.figure(1, figsize=(12, 3.2))
plt.subplots_adjust(wspace=0.5)
plt.gray()
for id in range(3):
plt.subplot(1, 4, id + 1)
img = x_trainlid, :, @]
plt.pcolor (255 - img)
plt.text(24.5, 26, "%d" % y_train[id],
color="cornflowerblue', fontsize=18)
plt.xlim(0, 27)
plt.ylim(27, 0)
plt.grid('off', color="'white")
# plt.grid('on', color="white')
plt.show()
0 0 0
5 - 5 - L 1] 5 4 I
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== 1l ITO|l = o | =717 N
zooul_ %ITJHB IE/Z RE MES OE ZE |

from keras.utils import np_utils

x_train

x_train.reshape(60000, 784) # (A)



X_train = x_train.astype('float32') # (B)
X_train = x_train / 255 # (C)

num_classes = 10

# print(y_train[:2])

y_train = np_utils.to_categorical(y_train, num_classes) # (D)
# print(y_train[:2])

Xx_test = x_test.reshape(10000, 784)

Xx_test = x_test.astype('float32")

Xx_test = x_test / 255

y_test = np_utils.to_categorical(y_test, num_classes)

784XHE, EH B2 107 27, 10712 78 S {0| &S HEIH = E517[ 2o 2dat
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np. random. seed(1)

from keras.models import Sequential

from keras.layers import Dense, Activation
from keras.optimizers import Adam

model = Sequential() #

mode | .add(Dense(16, input_dim=784, activation='sigmoid')) # & 784X & 2| data, 16
mode!l.add(Dense(10, activation='softmax')) # == UEIHWEZZ= softmax®™ &

mode | .compile(loss="categorical_crossentropy',

optimizer=Adam(), metrics=["accuracy']) # Adam(): ZAlctZ &l L=

import time

startTime = time.time()

# history = model.fit(x_train, y_train, epochs=10, batch_size=1000,

history = model.fit(x_train, y_train, epochs=10, batch_size=5,
verbose=1, validation_data=(x_test, y_test)) # (A)

score = model.evaluate(x_test, y_test, verbose=0)

print('Test loss:', score[0])

print('Test accuracy:', score[1])

print("Computation time:{0:.3f} sec".format(time.time() — startTime))

Epoch 1/10

12000/ 12000 [ ] — 112s 9ms/step - loss: 0.4841 - accurac
y: 0.8794 - val_loss: 0.2754 - val_accuracy: 0.9219

Epoch 2/10

12000/ 12000 | ] = 116s 10ms/step - loss: 0.2512 — accurac
y: 0.9282 - val_loss: 0.2327 - val_accuracy: 0.9324

Epoch 3/10

12000/ 12000 [ ] - 111s 9ms/step - loss: 0.2180 — accurac
y: 0.9365 - val_loss: 0.2189 - val_accuracy: 0.9360

Epoch 4/10

12000/ 12000 [ ] = 112s 9ms/step - loss: 0.1975 - accurac
y: 0.9427 - val_loss: 0.2193 - val_accuracy: 0.9358

Epoch 5/10

12000/ 12000 | ] - 126s 11ms/step - loss: 0.1829 - accurac
y: 0.9462 - val_loss: 0.2002 - val_accuracy: 0.9413

Epoch 6/10

12000/ 12000 [ ] - 126s 10ms/step - loss: 0.1711 — accurac

y: 0.9496 - val_loss: 0.1922 - val_accuracy: 0.9444



Epoch 7/10

12000/12000 [

]

y: 0.9516 - val_loss: 0.1927 - val_accuracy:
Epoch 8/10

12000/12000 [

]

y: 0.9538 - val_loss: 0.1946 - val_accuracy:
Epoch 9/10

12000/12000 [

]

y: 0.9558 - val_loss: 0.1836 - val_accuracy:
Epoch 10/10

12000/12000 [

]

y: 0.9566 - val_loss: 0.1851 - val_accuracy:
Test loss: 0.18505536019802094
Test accuracy: 0.9441999793052673
Computation time:1217.723 sec

Z1HS L EH

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

plt.
plt.

plt.
plt.
plt.

plt.
plt.
plt.
plt.
plt.

plt.
plt.
plt.
plt.
plt.
plt.
plt.
plt.
plt.

10

loss

figure(1, figsize=(10, 4))
subplots_adjust(wspace=0.5)

subplot(1, 2, 1)

plot(history.history['loss'],

plot(history.history['val_loss'],

color="cornflowerblue")

ylim(0, 10)
legend()

grid()

xlabel ('epoch")
ylabel('loss")

subplot(1, 2, 2)

plot(history.history['accuracy'],

label="test",

126s 11ms/step
.9449

128s 11ms/step
L9411

130s 11ms/step
.9436

127s 11ms/step
.9442

label="training',

plot(history.history['val_accuracy'], label="test',

ylim(0, 1)
legend()

grid()

xlabel ('epoch")

ylabel ('acc')
show()
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def show_prediction():
n_show = 96
y = model.predict(x_test) # Model 0l test dataS & =ot0f, 2
plt.figure(2, figsize=(12, 8))

Ul
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>
>
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n>

plt.gray()

for i in range(n_show):
plt.subplot(8, 12, i + 1)
x = x_test[i, :]

X = X.reshape(28, 28)

plt.pcolor(1 - x)

wk = y[i, ]

prediction = np.argmax(wk)

plt.text(22, 25.5, "%d" % prediction, fontsize=12)

if prediction != np.argmax(y_test[i, :]): #0l=gt testZ g2 HlwWatod L7

plt.plot([0, 27], [1, 1], color="cornflowerblue', linewidth=5)

plt.xlim(0, 27)

plt.ylim(27, 0)

plt.xticks([], "")

plt.yticks([], "")
#— 0Ol
show_prediction()
plt.show()
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np. random. seed(1)

from keras.models import Sequential

from keras.layers import Dense, Activation
from keras.optimizers import Adam

mode!l = Sequential()

mode | .add(Dense(16, input_dim=784, activation='relu')) # (A)

mode| . add(Dense(10, activation='softmax"'))

mode | .compile(loss="categorical_crossentropy',
optimizer=Adam(), metrics=["'accuracy'])



startTime =

time.time()

# history = model.fit(x_train, y_train, batch_size=1000, epochs=10,
history = model.fit(x_train, y_train, batch_size=10, epochs=10,
verbose=1, validation_data=(x_test, y_test))

score =
print('Test

loss: ',

print('Test accuracy: ',
print("Computation time:{0:.3f} sec".format(time.time() - startTime))

Epoch 1/10

6000/6000 |

0.8982 - val_

Epoch 2/10

loss: 0.2392

val_accuracy:

6000/6000 [

0.9355 - val_

Epoch 3/10

loss: 0.1995

val_accuracy:

6000/6000 [

0.9436 - val_

Epoch 4/10

loss: 0.1805

val_accuracy:

6000/6000 [

0.9495 - val_

Epoch 5/10

loss: 0.1719

val_accuracy:

6000/6000 [

0.9516 - val_

Epoch 6/10

loss: 0.1657

val_accuracy:

6000/6000 [

0.9552 - val_

Epoch 7/10

loss: 0.1652

val_accuracy:

6000/6000 [

0.9577 - val_

Epoch 8/10

loss: 0.1597

val_accuracy:

6000/6000 [

0.9591 - val_

Epoch 9/10

loss: 0.1608

val_accuracy:

6000/6000 [

0.9598 - val_

Epoch 10/10

loss: 0.1552

val_accuracy:

6000/6000 [

0.9606 - val_loss: 0.1656 - val_accuracy:

Test loss: 0.1655847728252411
Test accuracy: 0.9506000280380249

Computation time:677.318 sec

show_prediction()

plt.show()

] - 57s
0.9310

] - 63s
0.9439

] - 66s
0.9465

] - 67s
0.9517

] - 67s
0.9520

] - 67s
0.9520

] - 72s
0.9539

| - 72s
0.9527

| - 74s
0.9526

| - 71s
0.9506

model .evaluate(x_test, y_test, verbose=0)
score[0])
score[1])

9ms/step - loss: 0.3591 - accuracy:

10ms/step

11ms/step

11ms/step

11ms/step

11ms/step

12ms/step

12ms/step

12ms/step

12ms/step

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

0.2224

0.1926

0.1743

0.1627

0.1536

0.1466

0.1402

0.1356

0.1325

accuracy-

accuracy-

accuracy-

accuracy:

accuracy -

accuracy-

accuracy:

accuracy-

accuracy-
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+ model.layers[0].get_weights()[1]
Z=2509| 0§71 #H4== model.layers[1].get_weights()[0],

HFO|O{ A O§ 7 Bl model.layers[1].get_weights()[1]

# 1SM2 weight Al23t
w = model. layers[0].get_weights()[0]
plt.figure(1, figsize=(12, 3))
plt.gray()
plt.subplots_adjust(wspace=0.35, hspace=0.5)
for i in range(16):
plt.subplot(2, 8, i + 1)
wl = wl:, i]
w1l = wl.reshape(28, 28)
plt.pcolor(-wl)
plt.xlim(0, 27)
plt.ylim(27, 0)
plt.xticks([], "")
plt.yticks([], "")
plt.title("%d" % i)
plt.show()
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w = model. layers[1].get_weights()[0]
plt.figure(1, figsize=(12, 3))
plt.gray()
plt.subplots_adjust(wspace=0.35, hspace=0.5)
for i in range(10):
print(wl:, i])
# plt.subplot(2, 5, i + 1)
# wl=wl[:, i]
# w1l = wl.reshape(28, 28)
# plt.pcolor(-wt)
# plt.xlim(0, 27)
# plt.ylim(27, 0)
# plt.xticks([], "")
# plt.yticks([], "")
# plt.title("%d" % i)
# plt.show()

[-0.8845378  0.3052693  0.28402483 -0.5254166 -0.28698778 0.884413

-0.32805055 0.44494528 0.14611728 0.05177419 0.14048529 -1.9591275
0.34330606 —0.2628306 -0.00921323 -0.18877642]

[ 0.39641288 0.20687851 0.5098262 -0.04395254 0.37157482 -0.7900942

-0.29004768 -0.9632464 -0.4490133  0.9435305 0.07029517 0.76622087

-0.5309123 0.00386114 -0.9031469  0.40087238]

[ 0.7005871 -0.07761239 0.33150464 -0.30685696 0.12725021 0.6328398
0.4339458  0.34246463 0.46050215 0.3317317 -0.31536618 —-0.9338988

-0.68681395 -1.3483859  0.283352 0.1578017 ]

[ 0.35847482 -0.04778852 -0.16425598 0.314271  -0.46819365 -0.01984981
0.31093588 0.32269204 0.13851182 0.08618013 -0.8592853  0.6529109
0.25248572 -0.05851312 -0.5362225 0.16287687]

[-0.72821903 -0.44267902 0.00403422 0.85664135 —0.43338674 —1.8937342

-0.36128703 0.33708188 0.48856333 -0.76662076 0.26657233 0.23469983

-0.39959285 -0.5817194  0.43932804 -1.8890287 ]

[-0.12591326 -0.01087733 —1.4364787 -0.09664261 0.29760894
0.07310262 0.28769344 0.16895936 —0.72133094 0.38328066
0.34011874 0.6515873 -0.48738173 0.8752138 |

[-0.7401528 0.7337451 -0.3556884 0.10992327 0.46388438 0.17198296

-0.21953167 0.44189677 -0.381472  -0.49462038 0.25924534 -1.9588534

-0.4766854 -0.22780265 0.13052787 0.15221733]

[ 0.77894074 -0.3255422  0.62597966 -0.24696063 —0.2909258 0.2187577

-0.6230745 -0.5111853  0.6069453 -0.3563605 -0.83841425 -1.0299776

0.41601482 0.24182577 0.40750495 -0.09875393]

0.3691551 -0.15679944 -0.63126034 0.38319162 0.51606536 0.00661234

0.32987487 -0.67407143 -0.18919295 0.08134646 0.10702017 —-1.0699886

0.27733415 -0.13941947 -0.1664611 —0.49819097]

1

0

. 11215827
.5436826

.7578363 -1.4213212  0.27145997 0.40717447 -0.6338168 -0.4248517
.01865304 0.1665182 -0.37508816 -0.25111258 0.07424408 0.51582855
0.26835522 -0.15341431 0.53901404 —-0.09641204]
<Figure size 864x216 with 0 Axes>
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%reset

Once deleted, variables cannot be recovered. Proceed (y/[n])? vy

import numpy as np

from keras.datasets import mnist

from keras.utils import np_utils

(x_train, y_train), (x_test, y_test) = mnist.load_data()
x_train = x_train.reshape(60000, 28, 28, 1)

x_test = x_test.reshape(10000, 28, 28, 1)

x_train = x_train.astype('float32")

Xx_test = x_test.astype('float32')

x_train /= 255

Xx_test /= 255

num_classes = 10

y_train = np_utils.to_categorical(y_train, num_classes)
y_test = np_utils.to_categorical(y_test, num_classes)

import matplotlib.pyplot as plt
%matplotlib inline

id_img = 2
myfill = np.array([[1, 1, 1],

(1, 1, 11,

[-2, -2, -2]], dtype=float) # (A)
myfil2 = np.array([[-2, 1, 1],

[-2, 1, 1],

[-2, 1, 1]], dtype=float) # (B)
x_img = x_train[id_img, :, @, 0]
img_h = 28
img_w = 28

x_img = x_img.reshape(img_h, img_w)
out_img1l = np.zeros_like(x_img)
out_img2 = np.zeros_like(x_img)

# 2H XM
for ih in range(img_h - 3):
for iw in range(img_w - 3):
img_part = x_img[ih:ih + 3, iw:iw + 3]
out_imgllih + 1, iw + 1] = W
np.dot(img_part.reshape(=1), myfili.reshape(-1))
out_img2[ih + 1, iw + 1] = W
np.dot(img_part.reshape(-1), myfil2.reshape(-1))

# - HAl

plt.figure(1, figsize=(12, 3.2))
plt.subplots_adjust(wspace=0.5)
plt.gray()



plt.subplot(1, 3, 1)
plt.pcolor(1 - x_img)
plt.xlim(-1, 29)
plt.ylim(29, -1)
plt.subplot(1, 3, 2)
plt.pcolor(-out_img1)
plt.xlim(-1, 29)
plt.ylim(29, —-1)
plt.subplot(1, 3, 3)
plt.pcolor(-out_img2)
plt.xlim(-1, 29)
plt.ylim(29, -1)

plt.show()

04 0 04

5 5 5
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15 - 15 -

20 20 20

5 > 5

0 10 20 0 10 20 0

import numpy as np

np.random. seed(1)

from keras.models import Sequential

from keras.layers import Conv2D, MaxPooling2D

from keras.layers import Activation, Dropout, Flatten, Dense
from keras.optimizers import Adam

import time

mode! = Sequential()
mode | .add(Conv2D(8, (3, 3), padding='same',
input_shape=(28, 28, 1), activation='relu')) # (A)

model.add(Flatten()) # (B)
mode| . add(Dense(10, activation='softmax"'))
mode !l .compile(loss="categorical_crossentropy',

optimizer=Adam(),

metrics=['accuracy'])
startTime = time.time()
history = model.fit(x_train, y_train, batch_size=1000, epochs=20,

verbose=1, validation_data=(x_test, y_test))

score = model.evaluate(x_test, y_test, verbose=0)
print('Test loss:', scorel0])
print('Test accuracy:', score[1])

print("Computation time:{0:.3f} sec".format(time.time() - startTime))

Epoch 1/20

60/60 [ ] - 28s 472ms/step — loss: 0.7732
062 - val_loss: 0.3397 - val_accuracy: 0.9034

Epoch 2/20

60/60 [ ] - 32s 531ms/step - loss: 0.3122
105 - val_loss: 0.2692 - val_accuracy: 0.9213

Epoch 3/20

60/60 [ ] — 29s 479ms/step - loss: 0.2587
260 - val_loss: 0.2318 - val_accuracy: 0.9335

Epoch 4/20

60/60 [ ] - 30s 499ms/step — loss: 0.2208

373 - val_loss: 0.1995 - val_accuracy: 0.9436
Epoch 5/20

20

accuracy:

accuracy:

accuracy -

accuracy:

0.8

0.9

0.9

0.9



60/60 [ ] - 29s 491ms/step - loss:
460 - val_loss: 0.1807 - val_accuracy: 0.9472

Epoch 6/20

60/60 [ ] - 30s 494ms/step — loss:
521 - val_loss: 0.1596 - val_accuracy: 0.9574

Epoch 7/20

60/60 [ ] - 31s 509ms/step — loss:
571 - val_loss: 0.1454 - val_accuracy: 0.9606

Epoch 8/20

60/60 [ ] - 30s 492ms/step - loss:
616 - val_loss: 0.1372 - val_accuracy: 0.9638

Epoch 9/20

60/60 [ ] - 29s 479ms/step — loss:
652 - val_loss: 0.1268 - val_accuracy: 0.9644

Epoch 10/20

60/60 [ ] - 30s 500ms/step — loss:
683 - val_loss: 0.1216 - val_accuracy: 0.9664

Epoch 11/20

60/60 [ ] - 30s 501ms/step - loss:
704 - val_loss: 0.1157 - val_accuracy: 0.9675

Epoch 12/20

60/60 [ ] - 30s 493ms/step — loss:
717 - val_loss: 0.1092 - val_accuracy: 0.9689

Epoch 13/20

60/60 [ ] - 29s 486ms/step — loss:
739 - val_loss: 0.1043 - val_accuracy: 0.9706

Epoch 14/20

60/60 [ ] - 30s 503ms/step - loss:
752 - val_loss: 0.1011 val_accuracy: 0.9710

Epoch 15/20

60/60 [ ] - 30s 507ms/step — loss:
762 - val_loss: 0.0968 - val_accuracy: 0.9720

Epoch 16/20

60/60 [ ] - 30s 495ms/step — loss:
773 - val_loss: 0.0970 - val_accuracy: 0.9725

Epoch 17/20

60/60 [ ] - 30s 498ms/step — loss:
783 - val_loss: 0.0918 - val_accuracy: 0.9727

Epoch 18/20

60/60 [ ] - 31s 514ms/step — loss:
799 - val_loss: 0.0889 - val_accuracy: 0.9744

Epoch 19/20

60/60 [ ] - 31s 510ms/step — loss:
809 - val_loss: 0.0848 - val_accuracy: 0.9748

Epoch 20/20

60/60 [ ] - 30s 505ms/step — loss:

812 — val_loss: 0.0820 - val_accuracy:

.9752

Test loss: 0.08196050673723221
Test accuracy: 0.9751999974250793
Computation time:615.109 sec

def show_prediction():

n_show = 96

y = model.predict(x_test) # (A)
plt.figure(2, figsize=(12, 8))
plt.gray()

for i in range(n_show):

plt.subplot(8, 12, i + 1)

x = x_test[i, :]

X = Xx.reshape(28, 28)

plt.pcolor(1 - x)

wk = y[i, ]

prediction = np.argmax(wk)

plt.text(22, 25.5, "%d" % prediction, fontsize=12)

if prediction != np.argmax(y_test[i, :]):
plt.plot([0, 271, [1, 1],

plt.xlim(0, 27)

plt.ylim(27, 0)

color="cornflowerblue',

0.1910 - accuracy:
0.1697 - accuracy:
0.1516 - accuracy:
0.1373 - accuracy:
0.1255 - accuracy:
0.1161 - accuracy:
0.1076 - accuracy:
0.1016 - accuracy:
0.0957 - accuracy:
0.0903 - accuracy:
0.0853 - accuracy:
0.0810 - accuracy:
0.0771 - accuracy:
0.0728 - accuracy:
0.0692 - accuracy:
0.0660 - accuracy:
linewidth=5)



plt.xticks([
plt.yticks([

show_prediction()
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plt.figure(1,

plt.gray()

plt.subplots_adjust(wspace=0.2, hspace=0.2)

plt.subplot(2, 9, 10)
id_img = 12

x_img = x_test[id_img, :, &, 0]
img_h = 28

img_w = 28

Xx_img = x_img.reshape(img_h, img_w)

plt.pcolor(—x_img)

plt.xlim(0,

img_h)

plt.ylim(img_w, 0)
plt.xticks([], "")
plt.yticks([], "")
plt.title("Original")

w = model . layers[0].get_weights()[0] # (A)

max_w = np.max(w)

min_w = np.min(w)

for i in range(8):
plt.subplot(2, 9,
wi=w[:, :, 0,
wl = wil.reshape(3, 3)

il

i+ 2)

figsize=(12, 2.5))

plt.pcolor(=wl, vmin=min_w, vmax=max_w)
plt.xlim(0, 3)

plt.ylim(3, 0)

plt.xticks([], "")

plt.yticks([], "")

plt.title("%d" % i)



plt.subplot(2, 9, i + 11)

out_img = np.zeros_Ilike(x_img)

# 2H XMe

for ih in range(img_h - 3):

for iw in range(img_w - 3):

img_part = x_imglih:ih + 3, iw:iw + 3]
out_imglih + 1, iw+ 1] = W
np.dot(img_part.reshape(-1), wl.reshape(-1))

plt.pcolor(-out_img)

plt.xlim(0, img_w)

plt.ylim(img_h, 0)

plt.xticks([], "")

plt.yticks([], "")

plt.show()

Original
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import numpy as np

np. random. seed(1)

from keras.models import Sequential

from keras.layers import Dense, Dropout, Flatten
from keras.layers import Conv2D, MaxPooling2D
from keras.optimizers import Adam

import time

mode!l = Sequential()
mode| . add(Conv2D(16, (3, 3),

input_shape=(28, 28, 1), activation='relu'))
mode | .add(Conv2D(32, (3, 3), activation='relu'))
mode | . add(MaxPooling2D(pool_size=(2, 2))) # (A)
mode | . add(Conv2D(64, (3, 3), actlvatlon—'relu ))
mode| . add(MaxPool ing2D(pool_size=(2, 2))) # (B)
mode | . add(Dropout(0.25)) # (C)
mode | .add(Flatten())
mode !l .add(Dense (128, activation='relu'))
mode | . add(Dropout(0.25)) # (D)
model . add(Dense(num_classes, activation='softmax'))

model . compile(loss="'categorical_crossentropy',
optimizer=Adam(),
metrics=["'accuracy'])

startTime = time.time()

history = model.fit(x_train, y_train, batch_size=1000, epochs=20,
verbose=1, validation_data=(x_test, y_test))

score = model.evaluate(x_test, y_test, verbose=0)

print('Test loss:', score[0])

print('Test accuracy:', score[1])

print("Computation time:{0:.3f} sec".format(time.time() — startTime))



Epoch 1/20

60/60 [

6 - val_loss:

Epoch 2/20

.1315

val_accuracy:

60/60 [

6 - val_loss:

Epoch 3/20

.0641

val_accuracy:

60/60 [

4 - val_loss:

Epoch 4/20

.0458

val_accuracy:

60/60 [

2 - val_loss:

Epoch 5/20

.0386

val_accuracy:

60/60 [

4 - val_loss:

Epoch 6/20

.0356

val_accuracy:

60/60 [

6 - val_loss:

Epoch 7/20

.0288

val_accuracy:

60/60 [

2 — val_loss:

Epoch 8/20

.0272

val_accuracy:

60/60 [

8 - val_loss:

Epoch 9/20

.0261

val_accuracy:

60/60 [

0 - val_loss:

Epoch 10/20

.0235

val_accuracy:

60/60 [

5 - val_loss:

Epoch 11/20

.0236

val_accuracy:

60/60 [

7 — val_loss:

Epoch 12/20

.0217

val_accuracy:

60/60 [

0 - val_loss:

Epoch 13/20

.0222

val_accuracy:

60/60 [

4 - val_loss:

Epoch 14/20

.0226

val_accuracy:

60/60 [

1 - val_loss:

Epoch 15/20

.0221

val_accuracy:

60/60 [

5 - val_loss:

Epoch 16/20

.0227

val_accuracy:

60/60 [

2 — val_loss:

Epoch 17/20

.0203

val_accuracy:

60/60 [

5 - val_loss:

Epoch 18/20

.0206

val_accuracy:

60/60 [

4 - val_loss:

Epoch 19/20

.0244

val_accuracy:

60/60 [

0 - val_loss:

Epoch 20/20

.0224

val_accuracy:

60/60 [

6 - val_loss: 0.0203 - val_accuracy:

Test loss: 0.02030540257692337
Test accuracy: 0.9937999844551086
Computation time:5760.290 sec

show_prediction()

plt.show()
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- 265s
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.9930
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.9931
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- 380s

.9935
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.9925
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.9943

- 330s

.9934
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.9918
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.9927
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.9938

4s/step

4s/step

4s/step

4s/step

4s/step

4s/step

4s/step

4s/step

4s/step

5s/step

4s/step

4s/step

5s/step

6s/step

4s/step

4s/step

6s/step

4s/step

5s/step

6s/step

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

loss:

.6822

. 1388

.0892

.0716

.05689

.0509

.0465

.0396

.0377

.0334

.0294

.0285

.0259

.0247

.0231

.0208

.0198

.0196

.0185

.0157

accuracy:

accuracy:

accuracy:

accuracy:

accuracy:

accuracy:

accuracy:

accuracy -

accuracy:

accuracy:

accuracy -

accuracy:

accuracy:

accuracy-

accuracy:

accuracy:

accuracy-

accuracy:

accuracy:

accuracy-
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0. 45 BE M&

9.1 BH1750 =& MIA]
X| = 8t&:3|# A& (led light--> photo sensor lux2HQl)

O|HE M E pwmH A ElE led EH 2 Z, photo sensorzts A0 S0, 10| (G2 K| = &S
TH.

ledE 2t=H|2[I}H0| port(port 12)01 2 HZESHA, pwmdl =

i
Hr
I=
A=
nZ
N
i
2]
oz

LY 7{2]0f U= photo sensor®| A B17|1E F7.
photo sensor: BH1750FVI

Z1tgt2, BH1750FVI2| 40| ZOHE 7|0 1A+ B QE =2 S EL0]| LIEHE) AL &5,

Che AlSI(ZE MME CDSE XM2)0| A= CDSEAIO| HHH|Z|2HA 0|1, EMO| X7t 2
PWMA == B ESHA H A7, 502(2] 87| ZFO| MHE, == 5 57511,
10| [}2 model| 3]7| EAME =101 BtC},

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

import smbus
import time
import RPi.GPIO as GPIO

# GP10.setwarnings(False)
GP10.setmode(GP10.BCM)
GP10.setup(12, GP10.0UT) #LED 4D =& S <&l PORT & &

# BH1750 MODE & &
DEVICE = 0X23
POWER_DOWN = 0X00
POWER_ON = 0XO1
RESET = 0X07

CONT INUOUS_LOW_RES_MODE = 0X13
CONT INUOUS_HIGH_RES_MODE_1 = 0X10
CONT INUOUS_HIGH_RES_MODE_2 = 0X11
ONE_TIME_HIGH_RES_MODE_1 = 0X20
ONE_TIME_HIGH_RES_MODE_2 = 0X21
ONE_TIME_LOW_RES_MODE = 0X23

bus = smbus.SMBus(1)
light = GPI0.PWM(12, 100) # channel=12 frequency=1KHz

def convertToNumber (data):
result=int((data[1]+(256+datal0]))/1.2)
return (result)

#photo =& 21 J|
def readLight(addr=DEVICE):
data = bus.read_i2c_block_data(addr, CONTINUOUS_HIGH_RES_MODE_1)



return convertToNumber (data)

X_min =
X_max =
T_min
T_max =
X_.n =50 #=4& ==+

np.random.seed(seed=1) # 442 D&

I
[oNeoNeNe)

T = np.zeros(X_n)
X = np.random.rand(X_n)*100
X = np.round(X,0)

def main():
light.start(0)
count = 0

finish = False
| ight.ChangeDutyCycle(100)
time.sleep(1)
# 503 Ht=
while not finish:
light.ChangeDutyCycle(100 - X[count])
time.sleep(0.5)
Tlcount] = readLight()
if (count%10) == 0:
print("count: {0}, Light Level: {1}".format(count, T[count]))
count += 1
if count >= X_n:
finish = True

X_min = int(X.min())
X_max = int(X.max())
T_min = int(T.min())
T_max = int(T.max())

print('photo max:{0}, min:{1}"'. format(T.max(), T.min()))

print('led: max:{0}, min:{1}".format(X_max, X_min))

print('End of measure')

np.savez('photo.npz', X=X, X_min=X_min, X_max=X_max, X_n=X_n, T=T, T_min=
light.stop()
GP10.cleanup()

if __name__ == "__main__

main()

count: 0, Light Level: 107.0
count: 10, Light Level: 107.0
count: 20, Light Level: 138.0
count: 30, Light Level: 82.0
count: 40, Light Level: 154.0
photo max:154.0, min:74.0
l[ed: max:99, min:0

End of measure

import numpy as np

import matplotlib.pyplot as plt
%matplotlib inline

outfile = np.load('photo.npz")

= outfile['X"]
_min = outfile['X_min']
_max = outfile['X_max']
_n = outfile['X_n']

= outfile['T']
m outfile['T_min']
= outfile['T_max']

3

m —_—
< =
| I



# 2IAE 5-1-(2)
print(X)

# CIAE 5-1-(4)
print(np.round(T, 2))

[42. 72. 0. 30. 15. 9. 19. 35. 40. 54. 42. 69. 20. 88. 3. 67. 42. 56.
14. 20. 80. 97. 31. 69. 88. 89. 9. 4. 17. 88. 10. 42. 96. 53. 69. 32.
69. 83. 2. 75. 99. 75. 28. 79. 10. 45. 91. 29. 29. 13.]

[107. 131. 74. 98. 86. 81. 90. 102. 106. 117. 107. 129. 90. 144.
76. 128. 108. 119. 85. 90. 138. 152. 99. 130. 145. 145. 82. 77.
88. 145. 82. 108. 151. 116. 129. 100. 130. 140. 76. 134. 154. 135.
96. 137. 82. 110. 147. 98. 97. 85.]

# 2l AE 5-1-(5)

# GOl deil=

plt.figure(figsize=(4, 4))

plt.plot(X, T, marker='o', linestyle='None',
markeredgecolor="black', color="cornflowerblue')

plt.xlim(X_min, X_max)

print("min: {0}, max:{1}".format(X_min, X_max))

# plt.xlim(0, 99)

plt.grid(True)

plt.show()

min: 0, max:99

150 - J

140 - &°
130 0°

120 1 ’

110 + @
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# 2l AE 5-1-(6)
from mpl_toolkits.mplot3d import Axes3D
#E3 QX £
def mse_line(x, t, w):
y = w[0] » x + w[1]
mse = np.mean((y — t)x*2)
return mse

# A&
xn = 100 # S0& TAl oH&E

w0_range = [0, 5]

wi_range = [0, T_max]

x0 = np. | inspace(wO_rangel[0], wO_rangel[1], xn)
x1 = np. linspace(wi_rangel[0], wi_rangel[1], xn)
xx0, xx1 = np.meshgrid(x0, x1)

J = np.zeros((len(x0), len(x1)))




for i0 in range(xn):
for i1 in range(xn):
JIi1, i0] = mse_line(X, T, (x0[i0], x1[i1]))

# T Al
plt.figure(figsize=(9.5, 4))
plt.subplots_adjust(wspace=0.5)

ax = plt.subplot(1, 2, 1, projection='3d")

ax.plot_surface(xx0, xx1, J, rstride=10, cstride=10, alpha=0.3,
color="blue', edgecolor="'black")

ax.set_xticks([-5, 0, 5])

# ax.set_yticks([0, (T_min+T_max)/2, T_max])

ax.set_yticks([0, 100, T_max])

ax.view_init(20, -60)

plt.subplot(1, 2, 2)

cont = plt.contour(xx0, xx1, J, 30, colors='black",
levels=[100, 1000, 10000, 100000])

cont.clabel (fmt="%1.0f", fontsize=8)

plt.grid(True)

plt.show()
140 - \\\
120 - ﬁ%
80000
‘0000 1001
. 80 -
40000 \ %
20000 &0 | %
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Yn = y(wn) = Woxy + W1

2 N-1
wo(t +1) —wo(t) = —a— ;(yn — tn)Tn

Wt +1) = wit) = —am Y (n —ta)
n=0

# 2IAE 5-1-(7)

# B2 Ma X2 JI20]

def dmse_line(x, t, w):
y = wl0] = x + w[1]
d_w0 = 2 * np.mean((
d_wl = 2 x np.mean(y
return d_w0, d_wil

y — t) * x)
- t)

# 2l AE 5-1-(8)
d_w = dmse_line(X, T, [1, 100])
print(np.round(d_w, 1))



(3666 . 70.5]

# 2lAE 5-1-(9)
# U
def fit_line_num(x, t)
w_init = [X_min, T_

[w]

max/2] # ZEJ| 04O =

>

alpha = 0.0001 # =t

tU Lo iy

i_max = 100000 # Bt=

ESnE
eps = 0.5 # Bt=28 =2 JI2J/19 HEM 29 &AH
w_i = np.zeros([i_max, 2])
w_il0, ] = w_init
for i in range(1, i_max):
dmse = dmse_line(x, t, w_i[i - 1])

] - alpha * dmse[0]
] - alpha * dmse[1]
) < eps: # SS A, np.absolutes= ZE U X

woili, 11 =w_ili - 1,

w_ili, O] =w_ili - 1,0
1
if max(np.absolute(dmse)

break
wo = w_ili, 0]
wl = w_ili, 1]
w_i = w_il:i, @]

return w0, wl, dmse, w_i

# Olel
plt.figure(figsize=(4, 4)) # MSESl S104& HEAl
xn = 100 # SO4& AT
wO_range = [0, 5]
wi_range = [0, T_max]
x0 = np. linspace(wO_range[0], wO_range[1], xn)
x1 = np. linspace(wi_rangel[O0], wi_range[1], xn)
xx0, xx1 = np.meshgrid(x0, x1)
J = np.zeros((len(x0), len(x1)))
for i0 in range(xn):

for i1 in range(xn):

JIi1, i0] = mse_line(X, T, (x0[i0], x1[i1]))

cont = plt.contour(xx0, xx1, J, 30, colors='black",
levels=(100, 1000, 10000, 100000))

cont.clabel (fmt="%1.0f', fontsize=8)

plt.grid(True)

# FHHE S =

WO, W1, dMSE, W_history = fit_line_num(X, T)

# 2L
Bt= 24 {0}'. format(W_history.shape[0]))

print('
print('W=[{0:.6f}, {1:.6f}]".format(WO, W1))
print('dMSE=[{0:.6f}, {1:.6f}]".format(dMSE[O], dMSE[1]))

print('MSE={0:.6f}".format(mse_line(X, T, [WO, Wi])))
plt.plot(W_history[:, 0], W_history[:, 1], '.-"',

color="gray', markersize=10, markeredgecolor="cornflowerblue')
plt.show()

|:||_|.

Jo

2= 21128
W=[0.788680, 74.891279]
dMSE=[-0.007498, 0.499976]
MSE=0.384079

o
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# elAE 5-1-(10)

# o

H Al

def show_line(w):
xb = np. linspace(X_min, X_max, 100)
y = wl0] = xb + w[1]
plt.plot(xb, y, color=(.5, .5, .5),

# 0Ol 2l
plt.figure(figsize=(4, 4))
W=np.array([WO, Wi])

mse =

linewidth=4)

mse_line(X, T, W)

print("w0o={0:.3f}, wi={1:.3f}". format (WO, W1))
# mse = mse_line(X, T, W)

print("S0={0:.3f} cm".format(np.sqrt(mse)))

show_line(W)

plt.plot(X, T, marker='o",

linestyle="None',

color="cornflowerblue', markeredgecolor="black")
plt.xlim(X_min, X_max)
plt.grid(True)
plt.show()

w0=0.789, w1=74.891
SD=0.620 cm

150
140
150 4
120
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# 2IAE 5-1-(11)
# off & olf
def fit_line(x, t):

mx = np.mean(x)

mt = np.mean(t)

mtx = np.mean(t * x)

mxx = np.mean(x * x)

wo = (mtx — mt * mx) / (mxx — mx**2)

wl = mt — wO * mx

return np.array([wo, wi])

# 0ol el

W= fit_line(X, T)

print("w0o={0:.3f}, wi={1:.3f}". format(W[O], W[1]))

mse = mse_line(X, T, W)

print("SD={0:.3f} cm".format(np.saqrt(mse)))

plt.figure(figsize=(4, 4))

show_line(W)

plt.plot(X, T, marker='o', linestyle='None',
color="cornflowerblue', markeredgecolor="black")

plt.xlim(X_min, X_max)

plt.grid(True)

plt.show()

w0=0.801, w1=74.054
SD=0.418 cm

150
140 4
130
120 A
110 4

100 1

?OI T T T T




9.2 CDS &&= MIA
X = &&:2|7 HE(led light--> photo sensor lux2}2l)

photo sensor: cds + MCP3002(SPI ADC Driver)

T o2 SeS ol 7, 10| et 2 8gs Hgsiorsts 327t

Jofter 2HEgS BB IEM Xl 2utot Lisa =S =05tY| HHE LT

A2 0|3}2| TESTE= 2021.05.22. 18:000f TIsHst A 1to|Ct,

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

import time
import spidev
import RPi.GPI0 as GPIO

# GP10.setwarnings(False)
GP10.setmode(GP10.BCM)
GP10.setup(12, GPI10.0UT)

spi_ch = 0

# Enable SPI

spi = spidev.SpiDev(0, spi_ch)
spi.max_speed_hz = 1200000

def read_adc(adc_ch, vref = 3.3):

# Make sure ADC channel is 0 or 1

if adc_ch !'= 0:
adc_ch = 1
# Construct SPI| message
# First bit (Start): Logic high (1)
# Second bit (SGL/DIFF): 1 to select single mode
# Third bit (ODD/SIGN): Select channel (0 or 1)
# Fourth bit (MSFB): O for LSB first
# Next 12 bits: 0 (don't care)

msg = Ob11

msg = ((msg << 1) + adc_ch) << 5
msg = [msg, 0b00000000]

reply = spi.xfer2(msg)

# Construct single integer out of the reply (2 bytes)
adc = 0
for nin reply:
adc = (adc << 8) + n
# Last bit (0) is not part of ADC value, shift to remove it
adc = adc >> 1
# Calculate voltage form ADC value
voltage = (vref = adc) / 1024
# voltage = (vref = adc)/20
return voltage

light

GP10.PWM(12, 1000) # channel=12 frequency=50Hz

X_min = 0
X_max 0



T_min =0
T_max = 0
X_n = 50
np.random.seed(seed=1) # 445 0 &

T = np.zeros(X_n)
X = np.random.rand(X_n)*100
X = np.round(X,0)

# Report the channel 0 and channel 1 voltages to the terminal
try:

light.start(0)

count = 0

finish = False

light.ChangeDutyCycle(100)

time.sleep(1)

while not finish:
# light.ChangeDutyCycle(100)
light.ChangeDutyCycle(100 - X[count])
time.sleep(0.5)

T[count] = read_adc(0)
# Tlcount] = read_adc(1)
# time.sleep(1.0)
if (count%10) == 0:
print("count: {0}, Light Level: {1: .1f}, pwm: {2: .1f}".format(count, T[c
count += 1
if count >= X_n:
finish = True
X_min = int(X.min())
X_max = int(X.max())
T_min = int(T.min())
T_max = int(T.max())
print('photo max:{0: .1f}, min:{1: .1f}' . format(T.max(), T.min()))
print('led: max:{0: .1f}, min:{1: .1f}". format(X_max, X_min))
print('End of measure')
np.savez('photol.npz', X=X, X_min=X_min, X_max=X_max, X_n=X_n, T=T, T_mir
finally:

GP10.cleanup()

/usr/local/lib/python3.7/dist-packages/ipykernel_launcher.py:11: RuntimeWarning: This
channel is already in use, continuing anyway. Use GPI0.setwarnings(False) to disable

warnings.
# This is added back by InteractiveShellApp.init_path()
count: 0, Light Level: 2.7, pwm: 42.0
count: 10, Light Level: 2.7, pwm: 42.0
count: 20, Light Level: 2.3, pwm: 80.0
count: 30, Light Level: 3.2, pwm: 10.0
count: 40, Light Level: 2.2, pwm: 99.0
photo max: 3.3, min: 2.2
l[ed: max: 99.0, min: 0.0
End of measure

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline
outfile = np. load('photol.npz")

X = outfile['X"]

X_min = outfile['X_min']
X_max = outfile['X_max']
X_n = outfile['X_n"]

T =outfile['T']



T_min = outfile['T_min']
T_max = outfile['T_max']

# CIAE 5-1-(2)
print(X)

# CIAE 5-1-(4)
print(np.round(T, 2))

[42. 72. 0. 30. 15. 9. 19. 35. 40. 54. 42. 69. 20. 88. 3. 67. 42. 56.

14. 20. 80. 97. 31. 69. 88. 89. 9. 4. 17. 88. 10. 42. 96. 53. 69. 32.

69. 83. 2. 75. 99. 75. 28. 79. 10. 45. 91. 29. 29. 13.]

[2.69 2.38 3.3 2.76 3.06 3.21 3.04 2.8 2.75 2.59 2.73 2.36 2.94 2.24
3.29 2.41 2.63 2.53 3.07 2.91 2.33 2.2 2.76 2.38 2.27 2.27 3.14 3.25
2.952.24 3.2 2.58 2.2 2.512.3562.76 2.39 2.31 3.3 2.33 2.19 2.33
2.79 2.31 3.11 2.62 2.27 2.82 2.78 3.11]

# 2l AE 5-1-(5)

# OO dei=

plt.figure(figsize=(4, 4))

plt.plot(X, T, marker='o', linestyle='None',
markeredgecolor="black', color="cornflowerblue')

plt.xlim(X_min, X_max)

print("min: {0}, max:{1}".format(X_min, X_max))

# plt.xlim(0, 99)

plt.grid(True)

plt.xlabel ('$w_0$")

plt.ylabel ('$w_1$")

plt.show()

min: 0, max:99
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# 2l AE 5-1-(6)
from mpl_toolkits.mplot3d import Axes3D
# B QX &%
def mse_line(x, t, w):

y = w[0] » x + w[1]

mse = np.mean((y — t)xx2)

return mse
# H &
xn = 100 # S0& TZAl H&E
wO_range = [-1, 1]
wi_range = [0, T_max/2]
x0 = np. linspace(wO_range[0], wO_range[1], xn)
x1 = np. linspace(wi_range[0], wi_range[1], xn)



In [12]:

xx0, xx1 = np.meshgrid(x0, x1)
J = np.zeros((len(x0), len(x1)))

for 10 in range(xn):
for i1 in range(xn):
JIi1, i0] = mse_line(X, T, (x0[i0], x1[i1]))

# T Al
plt.figure(figsize=(9.5, 4))
plt.subplots_adjust(wspace=0.5)

ax = plt.subplot(1, 2, 1, projection='3d")

ax.plot_surface(xx0, xx1, J, rstride=10, cstride=10, alpha=0.3,

color="blue', edgecolor="'black")
ax.set_xticks([1, 0, -1])
ax.set_yticks([0, T_max/2, T_max])
ax.view_init(20, 20)
plt.xlabel ("$w_0$")
plt.ylabel ("$w_1$")

plt.subplot(1, 2, 2)

cont = plt.contour(xx0, xx1, J, 30, colors='black",
levels=[10, 100, 1000, 10000])

cont.clabel (fmt="%1.0f', fontsize=8)

plt.xlabel ("$w_0$")
plt.ylabel ("$w_1$")

plt.grid(True)

plt.show()
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# 2l AE 5-1-(7)
#HS M XS JI=2D
def dmse_line(x, t, w):
= w[0] *» x + w[1]
d_wo =2 » np.mean((y - t) * x)
d_wl =2 » np.mean(y - t)
return d_w0, d_wil

# 2l AE 5-1-(8)
d_w = dmse_line(X, T, [1, 100])
print(np.round(d_w, 1))

[15359.1  288.2]



# 2IAE 5-1-(9)
# U

def fit_line_num(x, t)
w_init = [X_min, T_min] # =J| OHJH &=
alpha = 0.0001 # =f& &
i_max = 100000 # Bt=°| = O =
2o =

eps = 0.0005 # Bt== &= JI=J12 20 g2 &

w_i = np.zeros([i_max, 2])
w_il0, ] = w_init
for i in range(1, i_max):
dmse = dmse_line(x, t, w_i[i — 1])

w_ili, 0] =w_i[i - 1, 0] - alpha * dmse[0]
w_ili, 11 =w_ili - 1, 1] - alpha * dmse[1]

if max(np.absolute(dmse)) < eps: # ZES&&E | np.absolutes

break
w0 i
wi _ili, 1]
w_i = w_il:i, :]
return wO, wl, dmse, w_i

# Ol
plt.figure(figsize=(4, 4)) # MSES S04 HEAl
xn = 100 # S04& AT
wO_range = [-2, 0]
wi_range = [0, T_max]
x0 = np. linspace(wO_range[0], wO_range[1], xn)
x1 = np. linspace(wi_rangel[0], wi_range[1], xn)
xx0, xx1 = np.meshgrid(x0, x1)
J = np.zeros((len(x0), len(x1)))
for i0 in range(xn):

for i1 in range(xn):

JIi1, i0] = mse_line(X, T, (x0[i0], x1[i1]))

cont = plt.contour(xx0, xx1, J, 30, colors='black",
levels=(100, 1000, 10000, 100000))

cont.clabel (fmt="%1.0f"', fontsize=8)

plt.grid(True)

# 7Y ==

WO, W1, dMSE, W_history = fit_line_num(X, T)

J|
Bt= 314 {0}'. format(W_history.shape[0]))

iyl
print('
print('W=[{0:.6f}, {1:.6f}]".format(WO, W1))
print('dMSE=[{0:.6f}, {1:.6f}]".format(dMSE[O], dMSE[1]))

print('MSE={0:.6f}"'. format(mse_line(X, T, [WO, W1])))
plt.plot(W_history[:, 0], W_history[:, 1], '.-',

Z Xl

color="gray', markersize=10, markeredgecolor="'cornflowerblue")

plt.show()

gt= &= 99999
W=[-0.011205, 3.197568]
dMSE=[0.000027, -0.001824]
MSE=0.005014
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# elAE 5-1-(10)

# o

IT
e

Al

-0.5 0.0

def show_line(w):
xb = np. linspace(X_min, X_max, 100)
y = w[0] * xb + w[1]

plt.plot(xb, y, color=(.5, .5, .5),

# 0Ol 2l
plt.figure(figsize=(4, 4))

W=np.array([WO, Wi])

mse =

plt.plot(X, T, marker='o",

plt.xlim(X_min, X_max)

mse_line(X, T, W)
print("w0o={0:.3f}, wi={1:.3f}". format(WO, W1))
# mse = mse_line(X, T, W)
print("Sb={0:.3f} cm". format(np.sart(mse)))
show_1line(W)

linestyle="None',

linewidth=4)

color="cornflowerblue', markeredgecolor="black")

plt.grid(True)
plt.show()

w0=-0.011, w1=3.198

SD=0.071 cm
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# 2IAE 5-1-(11)
# off & olf
def fit_line(x, t):

mx = np.mean(x)

mt = np.mean(t)

mtx = np.mean(t * x)

mxx = np.mean(x * x)

wo = (mtx — mt * mx) / (mxx — mx**2)

wl = mt — wO * mx

return np.array([wo, wi])

# 0ol el

W= fit_line(X, T)

print("w0o={0:.3f}, wi={1:.3f}". format(W[O], W[1]))

mse = mse_line(X, T, W)

print("SD={0:.3f} cm".format(np.saqrt(mse)))

plt.figure(figsize=(4, 4))

show_line(W)

plt.plot(X, T, marker='o', linestyle='None',
color="cornflowerblue', markeredgecolor="black")

plt.xlim(X_min, X_max)

plt.grid(True)

plt.show()

w0=-0.011, w1=3.201
SD=0.071 cm

0 20 40 &0 80
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# — 2IAE 5-2-(1)
import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

# OOIEH 2&
outfile = np.load('photot.npz")
X = outfile['X']

X_min = outfile['X_min']
X_max = outfile['X_max']
X_n = outfile['X_n"]

T = outfile['T']



In [22]:  # -— CSlAE 5-2-(2)
#Ol2A Bta

def gauss(x, mu, s):
return np.exp(=(x — mu)**2 / (2 % sx%2))

In [23]:

igure(figsize=(4, 4))
u = np.linspace(5, 30, M)
s =mul1] - mu[O] # (A)
xb = np.linspace(X_min, X_max, 100)
for j in range(M):
y = gauss(xb, mu[j], s)
plt.plot(xb, y, color="gray', linewidth=3)
plt.grid(True)
plt.xlim(X_min, X_max)
plt.ylim(0, 1.2)
plt.show()
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# 848 JIH g 24
def gauss_func(w, x):
m= len(w) - 1

mu = np. linspace(5, 30, m)
s = mu[1] - mu[O]
y = np.zeros_like(x) # xo &2 AJ|I2 QA4 09 & y
for j in range(m):
y =y + wlj] * gauss(x, mu[j], s)
y =y + wlm]
return vy

# CIAE 5-2-(5)

# 88 JIH & 29 MSE
def mse_gauss_func(x, t, w):
y = gauss_func(w, x)
mse = np.mean((y — t)xx2)

return mse

# 2l AE 5-2-(6)
#HEOIN B 28 IEE s24

def fit_gauss_func(x, t, m):
mu = np. linspace(5, 30, m)

i
il
0x



s =mul1] = mulO]
n = x.shape[0]
psi = np.ones((n, mt1))
for j in range(m):
psil:, j] = gauss(x, mulj], s)
psi_T = np.transpose(psi)

b =np.linalg.inv(psi_T.dot(psi))
¢ = b.dot(psi_T)

w = c.dot(t)

return w

# CIAE 5-2-(7)
#OI2A DI &£ HEA
def show_gauss_func(w):

xb = np. linspace(X_min, X_max, 100)

y = gauss_func(w, xb

plt.plot(xb, vy, c=1.

)
5, .5, .5], lw=4)

# ol el

plt.figure(figsize=(4, 4))

M=4

W = fit_gauss_func(X, T, M)

show_gauss_func(W)

plt.plot(X, T, marker='o0', linestyle='None',
color="cornflowerblue', markeredgecolor="black")

plt.xlim(X_min, X_max)

plt.grid(True)

mse = mse_gauss_func(X, T, W)

print('W="+ str(np.round(W,1)))

print("SD={0:.2f} cm".format(np.sqrt(mse)))

plt.show()

W=[0.9 0.1 0. 0.5 2.4]
SD=0.10 cm

# 2IAE 5-2-(8)
plt.figure(figsize=(10, 2.5))
plt.subplots_adjust(wspace=0.3)
M= [2, 4, 7, 9]
for i in range(len(M)):
plt.subplot(1, len(M), i + 1)
W = fit_gauss_func(X, T, M[i])
show_gauss_func(W)
plt.plot(X, T, marker='0', linestyle="'None',



color="cornflowerblue', markeredgecolor="black")
plt.xlim(X_min, X_max)
plt.grid(True)
plt.ylim(T_min, T_max)
mse = mse_gauss_func(X, T, W)

plt.title("M={0:d}, SD={1:.1f}". format(M[i], np.sqart(mse)))
plt.show()

M=2, 5D=0.1 M=4, 5D=0.1 M=7, SD=0.1 M=9, SD=0.2
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# 2IAE 5-2-(9)
plt.figure(figsize=(5, 4))
M = range(2, 10)
mse2 = np.zeros(len(M))
for i in range(len(M)):
W = fit_gauss_func(X, T, M[i])
mse2[i] = np.sart(mse_gauss_func(X, T, W))
plt.plot(M, mse2, marker='o",
color="cornflowerblue', markeredgecolor="black")
plt.grid(True)
plt.show()
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# I AE 5-2-(10)

# =& HOIHS HAE O 0l &
X_test = X[:int(X_n / 4 + 1)]
T_test = T[:int(X_.n / 4 + 1)]
X_train = X[int(X_n / 4 + 1):]
T_train = T[int(X_.n / 4 + 1):]
# 0ol

plt.figure(figsize=(10, 2.5))

plt.subplots_adjust(wspace=0.3)
M= [2, 4, 7, 9]



for i in range(len(M)):
plt.subplot(1, len(M), i + 1)
W = fit_gauss_func(X_train, T_train, M[i])
show_gauss_func (W)
plt.plot(X_train, T_train, marker='o0",
linestyle="'None', color="white',
markeredgecolor="black', label="training")
plt.plot(X_test, T_test, marker='o', linestyle='None',
color="cornflowerblue",
markeredgecolor="black', label="test")
plt.legend(loc="lower right', fontsize=10, numpoints=1)
plt.xlim(X_min, X_max)
plt.ylim(T_min, T_max)
plt.grid(True)
mse = mse_gauss_func(X_test, T_test, W)
plt.title("M={0:d}, SD={1:.1f}". format(M[i], np.sart(mse)))
plt.show()
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# 2l AE 5-2-(11)
plt.figure(figsize=(5, 4))
M = range(2, 10)
mse_train = np.zeros(len(M))
mse_test = np.zeros(len(M))
for i in range(len(M)):

W = fit_gauss_func(X_train, T_train, M[i])

mse_train[i] = np.sart(mse_gauss_func(X_train, T_train, W))

mse_test[i] = np.sqgrt(mse_gauss_func(X_test, T_test, W))
plt.plot(M, mse_train, marker='o', linestyle='-",

marker facecolor="white', markeredgecolor="black",
color="black', label="training")

plt.plot(M, mse_test, marker='o', linestyle='-",
color="cornflowerblue', markeredgecolor="black",
label="test")

plt. legend(loc="upper left', fontsize=10)

plt.ylim(0, 12)

plt.grid(True)

plt.show()
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5-2-(12)
St WX HAS
fold_gauss_func(x, t, m, k):

n = x.shape[0]

mse_train = np.zeros(k)

mse_test = np.zeros(k)

for i in range(0, k):

x_train = x[np.fmod(range(n), k

t_train = t[np.fmod(range(n), k)
)
)

x_test = x[np.fmod(range(n), k

t_test = t[np.fmod(range(n), k

wm = fit_gauss_func(x_train, t_train, m)

mse_train[i] = mse_gauss_func(x_train, t_train, wm)

mse_test[i] = mse_gauss_func(x_test, t_test, wm)
return mse_train, mse_test

# 2l AE 5-2-(13)
np. fmod(range(10),5)

array([0, 1, 2, 3, 4, 0, 1, 2, 3, 4], dtype=int32)

(array([0.00978268, 0.00906765, 0.00923018, 0.01296746]),
array([0.01404229, 0.01519937, 0.02644996, 0.00440227]))

# CIAE 5-2-(15)
M = range(2, 8)
K 16
Cv_Gauss_train = np.zeros((K, len(M)))
Cv_Gauss_test = np.zeros((K, len(M)))
for i in range(0, len(M)):
Cv_Gauss_train[:, i], Cv_Gauss_test[:, i] =W
kfold_gauss_func(X, T, M[i], K)
mean_Gauss_train = np.sart(np.mean(Cv_Gauss_train, axis=0))
mean_Gauss_test = np.sqart(np.mean(Cv_Gauss_test, axis=0))

plt.figure(figsize=(4, 3))
plt.plot(M, mean_Gauss_train, marker='o', linestyle='-",
color="k', markerfacecolor="w', label="training')



plt.plot(M, mean_Gauss_test, marker='o', linestyle='-",
color="cornflowerblue', markeredgecolor="'black', label="'test")

plt. legend(loc="upper left', fontsize=10)

plt.ylim(0, 20)

plt.grid(True)

plt.show()
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# CIAE 5-2-(16)

M=3

plt.figure(figsize=(4, 4))

W = fit_gauss_func(X, T, M)

show_gauss_func(W)

plt.plot(X, T, marker='0', linestyle="'None',
color="cornflowerblue', markeredgecolor="black")

plt.xlim([X_min, X_max])

plt.grid(True)

mse = mse_gauss_func(X, T, W)

print("SD={0:.2f} cm".format(np.sqrt(mse)))

plt.show()

SD=0.07 cm
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# CIAE 5-2-(17)
# 2 A
def model_A(x, w):
y = w[0] = w[1] * np.exp(-w[2] * x)
return vy

# DY A HEA
def show_model_A(w):
xb = np. linspace(X_min, X_max, 100)



y = model_A(xb, w)
plt.plot(xb, vy, c=[.5, .5, .5], Iw=4)

# 2 G A°|l MSE
def mse_model_A(w, x, t):
y = model_A(x, w)
mse = np.mean((y - t)*=*2)
return mse

# 2IAE 5-2-(18)
from scipy.optimize import minimize

# 24 AS| OHIH = FEF
def fit_model_A(w_init, x, t):
reslt = minimize(mse_model_A, w_init, args=(x, t), method="powel|")
return rest.x

# I AE 5-2-(19)

# Olel

plt.figure(figsize=(4, 4))

W_init=[100, 0, 0]

W= fit_model_A(W_init, X, T)

print("w0o={0:.1f}, wi={1:.1f}, w2={2: 1f}". format(W[O], W[1], W[2]))

show_mode | _A(W)

plt.plot(X, T, marker="'0', linestyle="'None',
color="cornflowerblue',markeredgecolor="'black")

plt.xlim(X_min, X_max)

plt.grid(True)

mse = mse_model_A(W, X, T)

print("sb={0:.2f} cm".format(np.sqrt(mse)))

plt.show()

w0=4.5, wi=1.3, w2=-0.0
SD=0.09 cm

=
5
z
=

2l AE 5-2-(20)
wx &3 model_A
f kfold_model_A(x, t, k):
n = len(x)
mse_train = np.zeros(k)
mse_test = np.zeros(k)
for i in range(0, k):
x_train = x[np.fmod(range(n), k) != il
t_train = t[np.fmod(range(n), k) != il




x_test = x[np.fmod(range(n), k) == i]
t_test = t[np.fmod(range(n), k) == il
wm = fit_model_A(np.array([169, 113, 0.2]), x_train, t_train)
mse_train[i] = mse_model_A(wm, x_train, t_train)
mse_test[i] = mse_model_A(wm, x_test, t_test)

return mse_train, mse_test

O

16

Cv_A_train, Cv_A_test = kfold_model_A(X, T, K)
mean_A_test = np.sart(np.mean(Cv_A_test))
print("Gauss(M=3) SD={0:.2f} cm". format(mean_Gauss_test[1]))
print("Model A SD={0:.2f} cm".format(mean_A_test))

SD = np.append(mean_Gauss_test[0:5], mean_A_test)

M = range(6)

label = ["M=2", "M=3", "M=4", "M=5", "M=6", "Model A"l
plt.figure(figsize=(5, 3))

plt.bar(M, SD, tick_label=1label, align="center",
facecolor="cornflowerblue")

plt.show()
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